e
le STEERING & SUSPENSION
MANUFACTURER
< M1 0N

>, <@ PRODUCT
>, CATALOG

o

____,_

[
-
By,
—

Ball Joint Suspension Kit
Tie Rod End Bush
Axial Joint Tie Rod Assembly

Link Stabilizer Mounting

auto d ACES Control Arm Streering Bellow
ASSOCIATION  mmrre Center Rod Axle Bellow

Stabilizer Mounting

RIW AUTOMOTIVE IR




Company Profile

\

/About Us

RIW is an organization that produces high quality suspension and steering parts for passenger cars and light commercial
vehicles in the automotive aftermarket industry. RIW aims to improve the automotive industry and benefit the
country's economy with the target of safely using the vehicle by the end user. As one of the widest range steering and
suspension parts manufacturer in the world, production and assembling facilities of RIW contains operations of the
following product lines in steering and suspension group for the aftermarket; ball joint, tie rod end, axial joint {(inner tie
rod), tie rod assembly, link stabilizer, center rot, control arm, wishbone, bush, mount and rubber products. As a result
of wide product range, high product quality, reasonable price and customer-focused studies, RIW takes the first place
among the largest spare parts company in Turkey. Through execution of Research and Development in the production
of the steering and suspension parts of passenger cars and light commercial vehicles, and at the most advanced and
technological conditions, RIW is Turkey's most modern spare parts manufacturer.

The culture of the company takes product quality, technological development and customer satisfaction as the priority;
therefore Automotive Aftermarket Industry use RIW brand product with confident. By taking advantage of latest
technology machining’s in its modern production facility, and also taking employee safety as the main principle in the
every stage of the production; from design to production, production to quality, packaging to delivery, marketing to
sales RIW has succeeded to be a respectable brand in more than 60 countries worldwide.

Mission

Providing the latest developed item to the market in high quality as the first in the aftermarket and improving product
guality in the every part of the World.

Vision

Spreading the "RIW Standards" which is made by advanced technology and aftermarket experiences to benefit the
whole world.

Production Strategy

RIW engineers control every stage of the production processes such as product design, mold design, machining, hot
and cold forging, aluminum forging, vertical and horizontal arm milling machining, control arm manufacturing, welding,
painting, coating and packaging, in its facilities separately. RIW accepts each stage of production as a different unit and
advocates the idea that in order to provide the fastest and highest quality product each unit should act as a separate
process during its planning for assembling and production. Hence, in this competitive market conditions where it is
difficult to reach large capital numbers, RIW invests in the direction of quality control and development.

In contrast to the mindset that every single step in the production is under one roof, RIW ensures that the raw materials
and semi-finished products are continuously inspected by experienced engineers and always keeps its quality under
control in each stage of the production process. With this system, thanks to the latest technology machinery and test
equipment used to apply quality testing at every stage, RIW always offers 100% controlled products to its customers
and both minimizes the risk of error to zero and aims to offer competitive prices to the customers by decreasing the
product costs.

Total Quality

RIW that aspires total quality approach has constantly increased its production capacity upon investments and quality
works made and has become a preferred brand in the world aftermarket. Acting with the awareness of being a
manufacturer of safety components, RIW actively exports its high-quality products too many countries located in
Europe, North Africa, Middle East, Australia, North and South America.

At all stages from the start to the end of production, RIW closely monitors and checks the quality of its products and
ensures that reliable and high quality products are offered to its customers. All tests and procedures are carried out by

highly experienced RIW engineers until they find the right quality to develop the aftermarket industry. /
N

WWW.riw.com.tr




Code Description

The codes which has 6 characters are suspension parts (Additional codes are exceptional) \
The codes which has 7 characters are rubber parts (Additional codes are exceptional)

There is no any specific code for Rod Assembly.

Rod Assembly codes are the combine of Tie Rod End and Axial Joint.

Same parts which are used at the different cars might have the same code.

PE6 001 )

AC ACURA DC DACIA IS ISUzZu LE LEYLAND PE_PEUGEOT| ] SM SMART
AF ALFAROMEO DW DAEWQO IV IVECO LC LINCOLN PO PORSCHE SY SSANGYONG

AU AUDI DH DAIHATSU JG JAGUAR LO LOTUS PR PROTON SU SUBARU
BW BMW DO DODGE JPJEEP MZ MAZDA RE RENAULT SZ SUZUKI

PE BU BUICK FI FIAT KI  KIA ME MERCEDES RR ROLLS-ROYCE TO TOYOTA
CD CADILLAC FO FORD LD LADA MC MINICOOPER RO ROVER VA VAUXHALL
CV CHEVROLET HN HONDA LR LANDROVER MI MITSUBISHI SA SAAB VW VOLKSWAGEN
CY CHRYSLER HY HYUNDAI LV LDV NS NISSAN SE SEAT VO VOLVO
Cl CITROEN IK IKCO LX LEXUS OP OPEL SK SKODA

1 BALLJOINT 7 CENTER ROD & DRAG LINK 23 TIE ROD ASSEMBLY
C 2 TIERODEND 8 SUSPENSION KITS 12 MOUNTING & RUBBER SUPPORT
6 3

AXIALJOINT (INNERTIEROD) 9 REARWISHBONE AND CONTROLARM 128 MOUNTING or RUBBER SUPPORTKIT

4 LINK STABILIZER 10 BUSH 13 BELLOW STEERING
5 CONTROLARM 11 BUSH 14 BELLOW DRIVE SHAFT
6 WISHBONE |l 118 REPAIR & BUSH KIT

Numbers

01 Any Number m

ADDITIONALS CODES AND MEANINGS

K K FORBALLJOINTS B B FOR WISHBONE and CONTROL ARMS
VW1012K 1=BALLJOINT K=WITHEXTRA ACCESSORIES BWS5005B 5=CONTROLARM B=WITHOUT BUSHING
VW1012 1=BALLJOINT BW5005 5=CONTROLARM (The similar as OE part)

) [ | K  KFORMOUNTINGS (RUBBER PARTS)
PE6001) 6=WISHBONE J=WITHOUT BALLJOINT CV12005K 12 = MOUNTING K =KIT, 2 PIECES or WITH EXTRA ACCESSORIES
PEBO0L  6=WISHBONE (The similarasthe OE part) CV12005 12=MOUNTING (The similar as OE part)

K K FORWISHBONES or CONTROL ARMS (5,6 or 9) A THE PRODUCT HAS DIFFERENT OPTION
BW6005K 6=WISHBONE K=WITHEXTRA ACCESSORIES FO4030A 4=LINKSTABILIZER A=OPTION (metal, rubber), plastic etc)
BW6005 6=WISHBONE FO4030 4=LINKSTABILIZER (The similar as OE part)

o ¥

WWW.riw.com.tr




* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

4 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

KIA

AMANTI 2004 - 2006

-

_é

HY2013
TIE ROD END RH

HY2014
TIE ROD END LH

Kl13032
AXIAL JOINT

HY6027

WISHBONE (WITHOUT BALL JOINT)
FRONT LOWER RH

HY6028

WISHBONE (WITHOUT BALL JOINT)
FRONT LOWER LH

HY9012
CONNTROL ARM REAR

Weight : 0,619 kg /1.365 Ib
Length : 170 mm /6.69 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : 13,3

Weight : 0,624 kg / 1.376 Ib
Length : 170 mm /6.69 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,3

Weight : 0,485 kg /1.069 Ib
Length : 200 mm / 7.87 inch

Weight : 5,7 kg / 12.566 Ib
Material Type : Sheet Metal

Weight : 5,7 kg / 12.566 Ib
Material Type : Sheet Metal

Weight : 1,206 kg /2.659 Ib
Material Type : Steel Tube

5682038900, 56820-38900
5682039000, 5778038010
57780-38010

56820-38000, 5778038000
57780-38000

577243F500

54501-36820, 54501-38000
54501-38010, 54501-38011

54500-36820, 54500-38000
54500-38010, 54500-38011

5527038000, 5527039000

1993 - 2003

<

\ =1
5’“:4
=

MZ1006
BALL JOINT FRONT UPPER

MZ1007
BALL JOINT FRONT LOWER

MZ2008
TIE ROD END

MZ3012
AXIAL JOINT

Weight : 0,8 kg /1.764 Ib

Cone Size [mm] : 318

Connection Hole Diameter : M8X1,25
Ball Pin Thread Size : M16X1,5

Weight : 1,25 kg /2.756 Ib

Cone Size [mm] : @19,7

Connection Hole Diameter : M10X1,25
Ball Pin Thread Size : M18X1,5

Weight : 0,722 kg /1.592 Ib
Length : 159,5 mm /6.28 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @14

Weight : 0,448 kg /0.988 Ib
Length : 180 mm /7.09 inch
Body Thread Size : M17X1

Ball Pin Thread Size : M14X1,5

0K71034540, 3252249
K71034540YT, K7103-45YT
S08399354, S08399364

3252250, K71034510YT
K71034540YT, OK71034510
OKX4334510, S08334510
S08399356

, 3251449
K71032240, K71032240Y
508399324, S08399324A

FB0132240A, S08332115
SA3932115

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

5

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

BESTA

KIA

1993 - 2003

KI111010
BUSH

MZ12005
ENGINE MOUNTING

BONGO

Chassis (Front / Rear) : Front
Position : Upper Left And Right
Weight : 0.14 kg /0.309 Ib
Note : Short

Position : Left And Right
Weight : 0.524 kg /1.155 Ib
Note : MOTOR TAKOZU

54453-4E000, S08334840A

0S093-39040A, 0S093-39040B
0S093-39040C, S093-39-040
$09339040B, S093-39-040B
S10H-39-040C, S10H-39-040D
UB7339040, UB73-39-040

1997 - 2005

MI1003
BALL JOINT FRONT LOWER

&0

MI1004
BALL JOINT FRONT UPPER

MI2006
TIE ROD END

K13009

emesmm—le AL JONT

BONGO

Weight : 0,575 kg /1.268 Ib
Cone Size [mm] : @19,5

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : 346,8

Weight : 0,905 kg /1.995 Ib

Cone Size [nm] : @17,7

Connection Hole Diameter : M10X1,25
Ball Pin Thread Size : M16X1,5

Weight : 0,344 kg /0.758 Ib
Length : 70 mm /2.76 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @13,7

Weight : 0,551 kg /1.215 b
Length : 184 mm /7.24 inch
Body Thread Size : M18X1,5
Ball Pin Thread Size : M14X1,5

54524-43001, 54524-43301
54524-4330A, MB176309
MB349475, MB527383

5441743A00, 54417-43A00
54417-47000, 54417-4A000
54417-4AA00, 54417-4BA00
5445743001, MB241623
MB527349, MB527350

5687243000, 56872-43010
MB166426, MB527650
MB864164

0SA3932115, OK71132115
OSA3932115, SA3932115

2003 -

A KI1016

BALL JOINT FRONT LOWER

K15008

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K15009

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

L
=i
afier

Weight : 0,615 kg / 1.356 Ib
Cone Size [mm] : @19,4

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : @46,8

Weight : 4,635 kg /10.218 Ib
Material Type : Sheet Metal

Weight : 4,635 kg /10.218 Ib
Material Type : Sheet Metal

545404E000%, 545414E000*

54540-4E000

54510-4E000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

6

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

BONGO 2003 -

K16055

Weight : 6,825 kg / 15.047 Ib
CONTROL ARM (WITH BALL JOINT) | Material Type : Forged Steel
FRONT UPPER RH

54420-4E001, 54420-4E200

K16056
Weight : 6,825 kg /15.047 Ib

CONTROL ARM (WITH BALL JOINT) | Material Type : Forged Steel
FRONT UPPER LH

54410-4E001, 54410-4E200

KI11008

Position : Left And Right 0K63B34820, 0K63B-34820
BUSH FOR CONTROL ARM Weight : 0.3 kg /0.661 Ib 0508334820, 0S083-34820
KI11009 Chassis (Front / Rear) : Front

BUSH FOR CONTROL ARM UPPER | Fosition : Upper 54449-4E000

Weight : 0.26 kg /0.573 Ib

KI11010 'C:‘:ha.?sis (ILront / FL{efeth: (I:r;ntht
osition : Upper Left And Rig
54453-4E000, S08334840A
BUSH Weight : 0.14 kg /0.309 Ib %3 , S0833
Note : Short

BORREGO HM 2008 -
HY4031 weight: 0305 kgg 1067215
aterial Type : Celi
LINK STABILIZER REAR Length : 99,5 mm /3.92 inch 55530-28000

Ball Pin Thread Size : M12X1,5

HY9006

Weight : 4,884 kg /10.767 Ib SITORIIE, G2 AL
CONTROL ARM (W|TH BALL JOlNT) Material Type o Forged Steel 55240-2J101 ’ 55240-2P000
REAR UPPER RH 55240-3J000, 55240-3J100
HY9007

Weight : 4,884 kg /10.767 Ib 55230-0W000, 55230-1U000
CONTROL ARM (W|TH BALL JOlNT) Material Type : Forged Steel 55230-2J101 ’ 55230-2P000
REAR UPPER LH 55230-3J000, 55230-3J100
HY12043 Chassis (Front / Rear) : Rear
MOUNTING, REAR AXLE BUSH Position : Left And Right 52760-2G000, 55130-4D000

Weight : 0.326 kg /0.719 Ib

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

7 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CAPITAL

KIA

1992 - 1998

Weight : 0,417 kg /0.919 Ib
Length : 94,5 mm /3.72 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : 13,5

-

B

CARENS

Kl2005
TIE ROD END

IFC

0K7232240, 0K72A32240
0K72A32240A, OK72A32240A

2000 - 2002

-
!
i
4 g

J—

CARENS

KI1004
BALL JOINT FRONT LOWER

KI1017
BALL JOINT FRONT LOWER

KI1017K
BALL JOINT FRONT LOWER

Kl2004
TIE ROD END

Kl4018
LINK STABILIZER REAR

KI11011
BUSH FOR LINK STABILIZER REAR

KI1017
BALL JOINT FRONT LOWER

KI1017K
BALL JOINT FRONT LOWER

Weight : 0,65 kg / 1.433 Ib
Connection Hole Diameter : @12,5

Weight : 0,520 kg /1.146 Ib

Weight : 0,520 kg /1.146 Ib

Weight : 0,445 kg /0.981 Ib
Length : 107 mm /4.21 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @13

Weight : 0,216 kg / 0.476 Ib

Material Type : Celik

Chassis (Front / Rear) : Rear
Weight : 0.082 kg /0.181 Ib
Length : KI4018 mm /0.00 inch

NFJ

Weight : 0,520 kg /1.146 Ib

Weight : 0,520 kg /1.146 Ib

0K21A134550A, 0K2A134550
0K2A134550A, OG03034550B

O0K2FA34550

0K2FA34550

09A232280, 0K20132280
0K20132280A, 0K92A32280
0K9A232280

0K2A128150A, 0K2A128150B
0K2A134150A, 0K2A134150B
0K2M228150

0K2A128150B*, 0K2A134150A*
0K2A134150B*, 0K2M228150*

2002 - 2006

O0K2FA34550

O0K2FA34550

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

8

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CARENS

IFJ

KIA

2002 - 2006

Weight : 0,445 kg /0.981 Ib
Length : 107 mm /4.21 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @13

¢ o
&F
R
&
G
]
*

CARENS

Kl2004
TIE ROD END

Kl4018
LINK STABILIZER REAR

K16007

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16008

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

Ki11011
BUSH FOR LINK STABILIZER REAR

HY12066
MOUNTING, REAR AXLE BUSH

Kl12025
ENGINE MOUNTING FRONT

Kl12027
ENGINE MOUNTING REAR

HY11008

MOUNTING, REAR AXLE BUSH
LOWER

Weight : 0,216 kg /0.476 Ib
Material Type : Celik

Weight : 5.105 kg /11.255 |b
Material Type : Sheet Metal

Weight : 5.105 kg /11.255 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Weight : 0.082 kg /0.181 Ib
Length : KI4018 mm / 0.00 inch

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

Chassis (Front / Rear) : Front
Weight : 1,515 kg /3.340 Ib

Chassis (Front / Rear) : Rear
Weight : 1,705 kg /3.759 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,142 kg /0.313 Ib

09A232280, 0K20132280
0K20132280A, 0K92A32280
0K9A232280

0K2A128150A, 0K2A128150B
0K2A134150A, 0K2A134150B
0K2M228150

0K2FA34300

O0K2FA34350

0K2A128150B*, 0K2A134150A*
0K2A134150B*, 0K2M228150*

55220-2D000, 55227-2D000

21910-2G000, 21910-2G100

0K2N339070, K2N339070
OK2N339070

2007 -

52710-2H000, 52773-1H000
52773-2G000, 52773-3R000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

9

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CARENS

Il UN

KIA

2006 - 2014

Kl2017
TIE ROD END RH

{(Y>1 0L 7)

Kl2018
TIE ROD END LH

Kl2021
TIE ROD END RH

Kl2022
TIE ROD END LH

Ki13019
AXIAL JOINT

Kl4018
LINK STABILIZER REAR

Kl4023
LINK STABILIZER FRONT

Kl4024
LINK STABILIZER REAR

Kl16036

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

K16037

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

KI9010
CONTROL ARM REAR LOWER RH

Weight : 0,739 kg /1.629 Ib

Weight : 0,739 kg /1.629 Ib

Weight : 0,774 kg /1.706 Ib

Weight : 0,774 kg /1.706 Ib

Weight : 0,538 kg /1.186 Ib

Weight : 0,216 kg / 0.476 Ib
Material Type : Celik

Weight : 0,38 kg /0.838 Ib
Material Type : Celik

Length : 241 mm /9.49 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,18 kg /0.397 Ib
Material Type : Celik

Length : 180 mm /7.09 inch
Ball Pin Thread Size : M10X1,25

Weight : 4,160 kg /9.171 Ib
Material Type : Sheet Metal

Weight : 4,160 kg /9.171 Ib
Material Type : Sheet Metal

Weight : 2,434 kg /5.366 Ib
Material Type : Sheet Metal

568202G900, 56820-2G900

568202G000, 56820-2G000

568204D100, 56820-4D100
568204D101, 56820-4D101

568204D000, 56820-4D000
568204D001, 56820-4D001

577241D000, 57724-1D000
57724-2G000, 577242G010
57724-2G010

0K2A128150A, 0K2A128150B
0K2A134150A, 0K2A134150B
0K2M228150

548302G000, 54830-2G000

555301D000, 55530-1D000
555302G000, 55530-2G000

54501-1D000, 54501-2G001

54501-2G100, 54501-2G101

54501-2G501, 54501-2G600
54501-2G601

54500-1D000, 54500-1D100
54500-1D300, 54500-2G001
54500-2G101, 54500-2G501
54500-2G600, 54500-2G601

55280-1D000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

10

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CARENS

Il UN

KIA

2006 - 2014

ot

&

&
o

O
¥

A

CARENS

KI19011
CONTROL ARM REAR LOWER LH

KI11013

BUSH FOR CONTROL ARM REAR
LOWER

KI11011

BUSH FOR LINK STABILIZER REAR

HY12043
MOUNTING, REAR AXLE BUSH

HY12066
MOUNTING, REAR AXLE BUSH

RN12180
STRUT SUPPORT MOUNTING

Ki12023
ENGINE MOUNTING REAR

Kl12025
ENGINE MOUNTING FRONT

Kl12026
ENGINE MOUNTING FRONT

Weight : 2,434 kg /5.366 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,700 kg / 1.543 Ib

Chassis (Front / Rear) : Rear
Weight : 0.082 kg /0.181 Ib
Length : KI4018 mm /0.00 inch

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.326 kg /0.719 Ib

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

Chassis (Front / Rear) : Front
Position : Left And Right

Weight : 0.155 kg /0.342 Ib
Material Type : Amortisér Rulmani

Chassis (Front / Rear) : Rear
Weight : 1,665 kg /3.671 Ib

Chassis (Front / Rear) : Front
Weight : 1,515 kg /3.340 Ib

Chassis (Front / Rear) : Front
Weight : 2,995 kg /6.603 Ib

IV RP

55270-1D000

55543-1H000, 55543-2G000
55543-2H000

0K2A128150B*, 0K2A134150A*
0K2A134150B*, 0K2M228150*

52760-2G000, 55130-4D000

55220-2D000, 55227-2D000

5035.19, 5035.23
5035.27, 5035.58
5035.63, 54612-1G010
54612-2C000, 91510633

21930-2G000, 21930-2G100

21910-2G000, 21910-2G100

21830-1D700, 21830-2G100

2013 - 2022

KI1018
BALL JOINT FRONT LOWER

Weight : 0,755 kg / 1.664 Ib

54500-A4000%, 54501-A4000*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

11

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CARENS

IVRP

KIA

2013 - 2022

Weight : 0,831 kg /1.832 b
Length : 233 mm /9.17 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,4

1o AANY) )

t

CARNIVAL

HY2038
TIE ROD END RH

HY2039
TIE ROD END LH

K16063

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16063J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

K16064

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

K16064J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

HY13003
STEERING BELLOW

Weight : 0,831 kg /1.832 b
Length : 233 mm /9.17 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : 313,4

Weight : 4,255 kg /9.381 Ib
Material Type : Sheet Metal

Weight : 3,565 kg /7.859 Ib
Material Type : Sheet Metal

Weight : 4,255 kg /9.381 Ib
Material Type : Sheet Metal

Weight : 3,565 kg /7.859 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

| UP

56820-2S000, 5682025050
56820-2S050, 568202T500
56820-2T500, 56820-3Q500

5682025000, 56820-2S000
56820-2S050, 568202T000
56820-2T000, 56820-3Q000

54501-A4000

54501-A4000"

54500-A4000

54500-A4000*

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

57728-2S000

1999 - 2001

—b

Kl2007
TIE ROD END RH

Weight : 0,503 kg /1.109 Ib
Length : 130 mm /5.12 inch
Body Thread Size : M14X1,5

Ball Pin Thread Size : M12X1,25

Ball Pin Cone Diameter : @13,9

0K55232280

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

12

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA
L _______________________________________________________________________________________|

CARNIVAL IUP 1999 - 2001

Weight : 0,507 kg /1.118 Ib
Kl2008 Length : 127,5 mm /5.02 inch

Body Thread Size : M14X1,5 0K55232240
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : 13,8

TIE ROD END LH

KI3007 Weight : 0,627 kg /1.382 Ib
Length : 245 mm /9.65 inch 0K52232270, 0K55232270
AXIAL JOINT Body Thread Size : M17X1 0K552-32-270A

Ball Pin Thread Size : M14X1,5

TRACK CONTROL ARM (WITH BALL
JOINT) FRONT LOWER LH

¥ KI3016
= Weight : 1,212 kg /2.672 Ib 0K52232250, 0K55232250A
AXIAL JOINT Length : 308 mm /12.13 inch 0K55232250B, OK55232250
Kis027 Weight : 0,563 kg /1.241 Ib
eight : 0, g /1.
K55232250B
AXIAL JOINT Length : 245 mm /9.65 inch 55232250
K14012 \’(AVe:ght;g,271 ké; I{ko.597 Ib
aterial Type : Celi
L‘ LINK STABILIZER FRONT Leweiln 3 64 s 232 ek 0K55234160B, 0K55234160G
Ball Pin Thread Size : M12X1,25
= Ki5004
TRACK CONTROL ARM (WITH BALL Material Type : Forged Steel 0K55234300B, 0K55234300C
JOINT) FRONT LOWER RH
ay
= KI5005
Material Type : Forged Steel 0K55234350B, 0K55234350C
™

CARNIVAL IIUP 2000 - 2005

= K15004

TRACK CONTROL ARM (WITH BALL Material Type : Forged Steel
JOINT) FRONT LOWER RH

0K55234300B, 0K55234300C

E K15005

TRACK CONTROL ARM (WITH BALL
JOINT) FRONT LOWER LH

Material Type : Forged Steel 0K55234350B, 0K55234350C

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

13 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CARNIVAL

o — )

—
<
X
| g

G

—

KI1013
BALL JOINT FRONT LOWER

Ki3021
AXIAL JOINT

Kl14025
LINK STABILIZER FRONT RH

K14026
LINK STABILIZER FRONT LH

Kl4035
LINK STABILIZER REAR

K16034

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16034J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

K16035

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Kl16035J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

KI9008

CONTROL ARM (WITH BALL JOINT)
REAR RH

KI9009

CONTROL ARM (WITH BALL JOINT)
REAR LH

nva

Weight : 0.97 kg /2.138 Ib

Weight : 0,611 kg /1.347 Ib
Length : 211 mm /8.31 inch
Body Thread Size : M16X1,5

Ball Pin Thread Size : M16X1,5

Weight : 0,494 kg /1.089 Ib
Material Type : Celik
Length : 322 mm /12.68 inch

Ball Pin Thread Size : M12X1,25

Weight : 0,494 kg /1.089 Ib
Material Type : Celik
Length : 322 mm /12.68 inch

Ball Pin Thread Size : M12X1,25

Weight : 0,246 kg /0.542 Ib
Material Type : Celik
Length : 72 mm /2.83 inch

Ball Pin Thread Size : M10X1,25

Weight : 5,082 kg /11.204 Ib
Material Type : Sheet Metal

Weight : 4,698 kg /10.357 Ib
Material Type : Sheet Metal

Weight : 5,082 kg /11.204 Ib
Material Type : Sheet Metal

Weight : 4,698 kg /10.357 Ib
Material Type : Sheet Metal

Weight : 2,120 kg /4.674 Ib
Material Type : Forged Steel

Weight : 2,120 kg /4.674 Ib
Material Type : Forged Steel

KIA

2006 - 2014

Part of 545004D001, Part of
545004D002

Part of 545014D001, Part of
545014D002

577244D000, 57724-4D000

548404D000, 54840-4D000

548304D000, 54830-4D000

555304D000, 55530-4D000

54501-4D001

54501-4D002

54500-4D001

54500-4D002

55240-4D000

55230-4D001

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

14

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

CARNIVAL lnva

2006 - 2014

K111006

BUSHING FOR CONTROL ARM

REAR

HY12043

MOUNTING, REAR AXLE BUSH

Kl12012
STABILISER MOUNTING

KI12012K
STABILISER MOUNTING KIT

Chassis (Front / Rear) : Rear
Weight : 0,215 kg /0.474 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.326 kg /0.719 Ib

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front

55230-4D000, 55230-4D001

52760-2G000, 55130-4D000

54813-B8000, 54813-C5000
54813-S3000

54813-B8000, 54813-C5000
54813-S3000

. . Weight : 0,210 kg /0.463 Ib
Note : Kit

Kli12028
ENGINE MOUNTING FRONT

Chassis (Front / Rear) : Front

21910-4D500
Weight : 1,245 kg /2.745 |b

CARNIVAL IVYP 2014 -

HY12043 Chassis (Front / Rear) : Rear

MOUNTING, REAR AXLE BUSH Position : Left And Right
Weight : 0.326 kg /0.719 Ib

52760-2G000, 55130-4D000

CEED CD 2019 -

%
3 HY1036
*é* BALL JOINT FRONT LOWER RH Weight : 0,475 kg / 1.047 Ib 54501-G4AAQ*
7 HY1037
‘ ‘i BALL JOINT FRONT LOWER LH Weight : 0,475 kg / 1.047 Ib 54500-G4AAQ*
HY6113

Weight : 3,685 kg /8.124 Ib

CONTROL ARM (WITH BALL JOlNT) Material Type : Sheet Metal
FRONT LOWER RH

54501-G4AAQ

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

15 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CEED

CcDh

KIA

2019 -

—

SN

R
LB
P
-

CEED

HY6113J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

HY6114

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY6114J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

HY9030
CONTROL ARM REAR UPPER RH

HY9031
CONTROL ARM REAR UPPER LH

HY11040
BUSH FOR WISHBONE BIG

HY11041
BUSH FOR WISHBONE SMALL

HY12066
MOUNTING, REAR AXLE BUSH

Weight : 2,915 kg /6.426 Ib
Material Type : Sheet Metal

Weight : 3,685 kg /8.124 Ib
Material Type : Sheet Metal

Weight : 2,915 kg /6.426 Ib
Material Type : Sheet Metal

Weight : 1,145 kg /2.524 Ib
Material Type : Sheet Metal

Weight : 1,145 kg /2.524 Ib
Material Type : Sheet Metal

Position : Left And Right
Weight : 0,42 kg /0.926 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,195 kg /0.430 Ib

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

| ED

54501-G4AA0*

54500-G4AA0

54500-G4AA0*

55101-G4AA0Q

55100-G4AAQ

54584-A6000

54551-3X000

55220-2D000, 55227-2D000

2006 - 2012

wide
oF

HY1010
BALL JOINT FRONT LOWER

KI1010
BALL JOINT FRONT LOWER

Weight : 0,485 kg /1.069 Ib
Cone Size [mm] : @15

Connection Hole Diameter : @12,5
Ball Pin Thread Size : M12X1,25

Weight : 0,38 kg /0.838 Ib

51760-0Q000, 517602G000
51760-2G000, 51760-2H000

51760-2R000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

16

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

CEED | ED 2006 - 2012

Weight: 0,6 kg /1.323 Ib

' HY2015 Length : 230 mm /9.06 inch
TIE ROD END RH Body Thread Size : M14X1,5 568202H090, 56820-2H090
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,6 kg /1.323 Ib

HY2016 Length : 230 mm /9.06 inch
» N TIE ROD END LH Body Thread Size : M14X1,5 568202H000, 56820-2H000
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

i HY3016 \:Veigpr:::)s;: kg /?672(1) Ib i
& ength : 162,5 mm /6.40 incl
AXIAL JOINT Body Thread Size : M16X1,5 565402H000, 56540-2H000

Ball Pin Thread Size : M14X1,5

Weight : 0,335 kg /0.739 Ib

HY4027 Material Type : Celik 548302H000, 54830-2H000
LINK STABILIZER FRONT Length : 243 mm /9.57 inch 54830-2H001, 54830-2H100
Ball Pin Thread Size : M12X1,5 54830-2H200
HY6025 Weight : 4,279 kg /9.434 Ib
@j eignt - =, 97 545012H000, 54501-2H000

WISHBONE (W|THOUT BALL JOlNT) Material Type : Sheet Metal
FRONT LOWER RH

Y6026 Weight : 4,279 kg /9.434 Ib
eight : 4, g /9.
@ WISHBONE (WITHOUT BALL JOINT) | Material Type : Sheet Metal S SOARIITE, 27 SR 0D
FRONT LOWER LH

HY9004 Weight : 0,628 kg / 1.385 Ib
eight : 0, g /1.
CONTROL ARM REAR LOWER Material Type : Forged Steel 552501H000, 552502H000
KI9006 Weight: 1,095 kg /2.414 Ib
eight : 1, g /2.
e ——
CONTROL ARM REAR UPPER MAtSTAIT Dol S hecu el 951001H000
FO11064 Chassis (Front / Rear) : Rear
I|. Position : Left And Right 1500111*, 552501H000
| BUSH FOR WISHBONE REAR Weight : 1,437 kg /3.168 Ib 8V415K743AA*, BV6Z5500D*
SMALL Note : DENGE KOLU BURCU
HY11034 Chassis (Front / Rear) : Front

545840Q000, 54584-0Q000

Position : Left And Right 545842H000, 54584-2H000

Weight : 0,439 kg / 0.968 Ib

BUSH FOR WISHBONE REAR BIG

HY11037

Position : Center Left And Right
BUSH FOR WISHBONE CENTER Weight : 0,21 kg / 0.463 Ib
SMALL

545512H000, 54551-2H000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

17 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CEED

| ED

KIA

2006 - 2012

HY12043
MOUNTING, REAR AXLE BUSH

HY12066
MOUNTING, REAR AXLE BUSH

HY12047
TOP STRUT MOUNTING

RN12180
STRUT SUPPORT MOUNTING

HY12099
ENGINE MOUNTING FRONT

HY12102
ENGINE MOUNTING RH

HY12108
ENGINE MOUNTING FRONT LH

HY12109
ENGINE MOUNTING LH

HY12110
ENGINE MOUNTING FRONT

HY12111
ENGINE MOUNTING

HY12112
ENGINE MOUNTING REAR

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.326 kg /0.719 Ib

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.416 kg /0.917 Ib

Chassis (Front / Rear) : Front
Position : Left And Right

Weight : 0.155 kg /0.342 Ib
Material Type : Amortisér Rulmani

Chassis (Front / Rear) : Front
Weight : 1,285 kg /2.833 Ib

Position : Right
Weight : 1,495 kg /3.296 Ib

Chassis (Front / Rear) : Front
Position : Left
Weight : 2,115 kg /4.663 Ib

Position : Left
Weight : 2,125 kg /4.685 Ib

Chassis (Front / Rear) : Front
Weight : 1,225 kg /2.701 Ib

Weight : 2,065 kg /4.553 Ib

Chassis (Front / Rear) : Rear
Weight : 2,210 kg /4.872 Ib

52760-2G000, 55130-4D000

55220-2D000, 55227-2D000

553302-H000, 55330-2L000

5035.19, 5035.23
5035.27, 5035.58
5035.63, 54612-1G010
54612-2C000, 91510633

21910-2H000, 21910-2H150

21910-2H250

21810-0Q000, 21810-1H300
21810-2H000, 21810-2L000

21830-1H300, 21830-2H000
21830-2H010

21830-2H100

21910-1M000, 21910-1M050
21910-1M100, 21910-1M150

21830-1M000

21930-1H100, 21930-1M200
21930-2L150, 21930-2R100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

18

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CEED

| ED

KIA

2006 - 2012

KI12013
RUBBER BUFFER FRONT

—
&

CEED

HY13004
STEERING BELLOW

Chassis (Front / Rear) : Front
Weight : 0,055 kg /0.121 Ib

nJD

54625-1H000, 54626-1H000

57740-1G000, 57740-1H000

2012 - 2018

HY1023
BALL JOINT FRONT LOWER

AANNE T 11

HY3036
AXIAL JOINT

HY4056
LINK STABILIZER FRONT

HY4059
LINK STABILIZER REAR

HY6069

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

HY6069J

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

HY6070

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY6070J

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

Weight : 0,675 kg /1.488 Ib
Connection Hole Diameter : @13,5

Weight : 0,488 kg /1.076 Ib
Length : 218 mm /8.58 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,389 kg /0.858 Ib
Material Type : Celik

Length : 282 mm /11.10 inch
Ball Pin Thread Size : M12X1,5

Weight : 0,331 kg /0.730 Ib
Material Type : Celik

Length : 88 mm /3.46 inch

Ball Pin Thread Size : M12X1,25

Weight : 3,9 kg /8.598 Ib
Material Type : Sheet Metal

Weight : 3.1 kg /6.834 Ib
Material Type : Sheet Metal

Weight : 3,9 kg /8.598 Ib
Material Type : Sheet Metal

Weight : 3.1 kg /6.834 Ib
Material Type : Sheet Metal

5453027010, 5453035100
54530-35100, 5453082100

56540-A6000

548300U000, 54830-0U000
54830-4L000

55530-3R000, 55540-3R000

54501-A6200

54501-A6200"

54500-46200, 54500-A6200

54500-A6200"

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

19

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CEED

NJD

KIA

2012 - 2018

HY9003
TRACK CONTROL ARM REAR

e
Ve
N
N
L B
P
-
fe

HY9017

CONTROL ARM REAR UPPER
FORWARD

K16030

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16030J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

K16031

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

K16031J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

HY11017

BUSH FOR CONTROL ARM REAR
UPPER FORWARD

HY11040
BUSH FOR WISHBONE BIG

HY11041
BUSH FOR WISHBONE SMALL

HY12066
MOUNTING, REAR AXLE BUSH

HY12015
STABILISER MOUNTING

Weight : 1,242 kg /2.738 Ib
Material Type : Sheet Metal

Weight : 0,725 kg / 1.598 Ib
Material Type : Forged Steel

Weight : 3,912 kg /8.624 Ib
Material Type : Sheet Metal

Weight : 3,200 kg / 7.055 Ib
Material Type : Sheet Metal

Weight : 3,912 kg /8.624 Ib
Material Type : Sheet Metal

Weight : 3,200 kg /7.055 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Upper Forward
Weight : 0,155 kg /0.342 Ib

Position : Left And Right
Weight : 0,42 kg /0.926 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,195 kg /0.430 Ib

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

Chassis (Front / Rear) : Front
Position : Left And Right

Weight : 0.056 kg /0.123 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI ON)@22mm)

55100A6005, 55100-A6005

55250A600

54501A2600, 54501-A2600

54501-A2600"

54500A2600, 54500-A2600

54500-A2600*

55250A600*

54584-A6000

54551-3X000

55220-2D000, 55227-2D000

548132H000, 54813-2H000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

20

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CEED

NJD

KIA

2012 - 2018

o
e

P
@

CERATO

HY12015K
STABILISER MOUNTING KIT

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

HY12047
TOP STRUT MOUNTING

HY13009
STEERING BELLOW

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.112 kg / 0.247 Ib
Material Type : Rubber

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.416 kg /0.917 Ib

LD

54813-2H000*

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

553302-H000, 55330-2L000

57740-3X200, 57740-A6500

2004 - 2011

EZ

|

HY1002
BALL JOINT FRONT LOWER

HY2004
TIE ROD END

Ki3011
AXIAL JOINT

HY4007
LINK STABILIZER REAR

Kl4013
LINK STABILIZER FRONT RH

Weight : 0,33 kg /0.728 Ib
Cone Size [mm] : @15

Ball Pin Thread Size : M12X1,5
Ball Joint Body Diameter : @40,4

Weight : 0,294 kg / 0.648 Ib
Length : 76,5 mm / 3.01 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,5

Weight : 0,644 kg /1.420 Ib
Length : 325 mm /12.80 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,253 kg /0.558 Ib
Material Type : Celik

Length : 130 mm /5.12 inch
Ball Pin Thread Size : M10X1,25

Weight : 0,372 kg /0.820 Ib
Material Type : Celik

Length : 250 mm /9.84 inch
Ball Pin Thread Size : M10X1,5

54500-17000, 54500-1C000
54500-1C010, 54500-1J500
54501-17000, 54501-1C000
54501-1C010, 54501-1J500
54501-22000, 54501-22100

5682025000, 56820-25000

577242D000, 57724-2D000

5553017000, 55530-17000
5553029000, 55530-29000
5553029300, 55530-29300
5553029500, 55530-29500

548402F000, 54840-2F000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

21

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CERATO

LD

KIA

2004 - 2011

Fe@i®@e\ /AN |

Kl4014
LINK STABILIZER FRONT LH

K16009

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16010

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

K19001

TRACK CONTROL ARM REAR
LOWER FORWARD

K19002

TRACK CONTROL ARM REAR
LOWER REARWARD

HY11015
BUSH FOR CONTROL ARM REAR

LOWER FORWARD AND
REARWARD

HY11031
BUSH FOR WISHBONE LOWER

HY11032
BUSH FOR WISHBONE LOWER

HY11045
BUSH FOR CONTROL ARM REAR

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

Weight : 0,358 kg /0.789 Ib
Material Type : Celik

Length : 250 mm /9.84 inch
Ball Pin Thread Size : M10X1,5

Weight : 3,693 kg /8.142 Ib
Material Type : Sheet Metal

Weight : 3,693 kg /8.142 Ib
Material Type : Sheet Metal

Weight : 0,978 kg /2.156 Ib
Material Type : Metal

Weight : 0,91 kg /2.006 Ib
Material Type : Metal

Chassis (Front / Rear) : Rear
Position : Lower Forward And Rearward
Weight : 0,086 kg /0.190 Ib

Position : Lower Left And Right
Weight : 0,311 kg / 0.686 Ib

Position : Lower Left And Right
Weight : 0,331 kg /0.730 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0,085 kg /0.187 Ib

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

548302F000, 54830-2F000

545012F001, 54501-2F001

545002F001, 54500-2F001

552102F000, 552102F500

552202F000

55220-2D000, 55227-2D000

545842F000, 54584-2F000

54551-2D000

552102F000*, 552102F000-P
552202F000*, 552202F000-P

54813-2T000, 54813-3S110

54813-2T000, 54813-35110

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

22

info@riw.com.tr



STEERING & SUSPENSION

RIW |7530 5000

LD

KIA

2004 - 2011

54813-2F000

CERATO

KI12005
Chassis (Front / Rear) : Front
STABILISER MOUNTING FRONT Weight : 0,066 kg /0.146 Ib

Chassis (Front / Rear) : Front

' KI12005K
STABILISER MOUNTING FRONT Weight: 0,132 kg /0.291 Ib
Note : Kit

KIT

HY12102
Position : Right
Weight : 1,495 kg /3.296 Ib

ENGINE MOUNTING RH

Chassis (Front / Rear) : Rear

HY12113
ENGINE MOUNTING REAR RH PeEiitam ¢ R
Weight : 2,420 kg /5.335 Ib
Ki12017 )
Chassis (Front / Rear) : Front
ENGINE MOUNTING FRONT Weight : 1,020 kg /2.249 Ib
Ki12018
Position : Left
ENGINE MOUNTING LH Weight : 1,625 kg / 3.583 Ib
" Ki12019
= x Chassis (Front / Rear) : Rear
'ﬁ | ENGINE MOUNTING REAR Weight : 0,865 kg / 1.907 Ib

Chassis (Front / Rear) : Rear
Weight : 1,055 kg /2.326 Ib

Kli12020
ENGINE MOUNTING REAR
Chassis (Front / Rear) : Front

£ HY12069
RUBBER BUFFER FRONT Weight : 0,430 kg /0.948 Ib

D

54813-2F000

21810-0Q000, 21810-1H300
21810-2H000, 21810-2L000

21930-1M250

21910-2F000

21830-2F000, 21830-2F200
21830-2F300

21930-0S000, 21930-0S100

21930-2F000, 21930-2F100

21930-2F400, 21930-2F500
21931-2F010

21910-2F010, 21910-2F100

21910-2F110

54626-1C000, 54626-1C500
54626-1M000, 54626-29100

2011 - 2013

577241M000

CERATO

KI3031
Weight : 0,445 kg /0.981 Ib
Length : 186 mm /7.32 inch

AXIAL JOINT

L

23

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

info@riw.com.tr




le STEERING & SUSPENSION
MANUFACTURER KIA

CERATO D

2011 - 2013

o
e
@

HY12057

STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT

KIT

HY12110
ENGINE MOUNTING FRONT

HY12111
ENGINE MOUNTING

HY12113
ENGINE MOUNTING REAR RH

HY12069
RUBBER BUFFER FRONT

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

Chassis (Front / Rear) : Front
Weight : 1,225 kg /2.701 Ib

Weight : 2,065 kg /4.553 Ib

Chassis (Front / Rear) : Rear
Position : Right
Weight : 2,420 kg /5.335Ib

Chassis (Front / Rear) : Front
Weight : 0,430 kg /0.948 Ib

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

21910-1M000, 21910-1M050
21910-1M100, 21910-1M150

21830-1M000

21930-1M250

54626-1C000, 54626-1C500
54626-1M000, 54626-29100

2014 - 2018

54500-1R000, 54500-3X000
54500-3Y000, 54500-AA100
54500-H5000, 54500-M0000
54500-Q0000, 54501-1R000
54501-3X000, 54501-3Y000

(\S=—
-
P
—

HY1040
BALL JOINT FRONT LOWER

Kl12029
TIE ROD END RH

Kl2030
TIE ROD END LH

Ki3025
AXIAL JOINT

Weight : 0,303 kg /0.668 Ib
Cone Size [mm] : @15

Ball Pin Thread Size : M12X1,25
Ball Joint Body Diameter : @40,4

Weight : 0,726 kg / 1.601 Ib
Length : 70,3 mm /2.77 inch

Weight : 0,726 kg /1.601 Ib
Length : 70,3 mm /2.77 inch

Weight : 0,568 kg /1.252 Ib
Length : 242 mm /9.53 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

56820-A7090, 56825-A7500

56820-A7000, 56820-A7500

56540-A7000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

24

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CERATO

YD

KIA

2014 - 2018

L

CLARUS

K16042

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16043

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

Weight : 3,658 kg /8.065 Ib
Material Type : Sheet Metal

Weight : 3,658 kg /8.065 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

54501-3X700, 54501-A7000

54500-3X700, 54500-A7000

54813-2T000, 54813-3S110

54813-2T000, 54813-35110

1996 - 2011

e

&
Vo=
o
i3

MZ1004
BALL JOINT FRONT LOWER

MZ1004A
BALL JOINT FRONT LOWER

Kl2004
TIE ROD END

MZ4007
LINK STABILIZER FRONT LH

MZ4008
LINK STABILIZER FRONT RH

MZ4009
LINK STABILIZER REAR

Weight : 0,34 kg /0.750 Ib
Ball Joint Body Diameter : @42,7

Weight : 0,349 kg /0.769 Ib
Cone Size [mm] : @18

Weight : 0,445 kg /0.981 Ib
Length : 107 mm /4.21 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @13

Weight : 0,215 kg /0.474 Ib
Material Type : Celik

Length : 104 mm /4.09 inch
Ball Pin Thread Size : M10X1,25

Weight : 0,213 kg /0.470 Ib
Material Type : Celik

Length : 104 mm /4.09 inch
Ball Pin Thread Size : M10X1,25

Weight : 0,208 kg / 0.459 Ib
Material Type : Celik

Length : 88 mm / 3.46 inch

Ball Pin Thread Size : M10X1,25

G03034550A, G03034550B

G03034350F, G03099356
GABA99356, GA6B99356
GABB99356A

09A232280, 0K20132280
0K20132280A, 0K92A32280
0K9A232280

3410592, GA2A34170
GA2A34170A

3410591, GA2A34150
GA2A34150A

3799085, GA2B28170B
GA2C-28-170, GA2C28170B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

25

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

KIA

FORTE 2009 - 2013

alie

5
<
L
&

HY1010
BALL JOINT FRONT LOWER

HY2015
TIE ROD END RH

HY2016
TIE ROD END LH

HY3016
AXIAL JOINT

K13031
AXIAL JOINT

HY4027
LINK STABILIZER FRONT

K16028

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16029

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY12015
STABILISER MOUNTING

HY12015K
STABILISER MOUNTING KIT

HY12102
ENGINE MOUNTING RH

Weight : 0,485 kg / 1.069 Ib
Cone Size [nm] : @15

Connection Hole Diameter : @12,5

Ball Pin Thread Size : M12X1,25

Weight : 0,6 kg /1.323 Ib
Length : 230 mm /9.06 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,6 kg /1.323 Ib
Length : 230 mm /9.06 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,345 kg /0.761 Ib
Length : 162,5 mm /6.40 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,445 kg /0.981 Ib
Length : 186 mm /7.32 inch

Weight : 0,335 kg /0.739 Ib
Material Type : Celik

Length : 243 mm /9.57 inch
Ball Pin Thread Size : M12X1,5

Weight : 4,1 kg /9.039 Ib
Material Type : Sheet Metal

Weight : 4,1 kg /9.039 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.056 kg /0.123 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI ON)@22mm)

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.112 kg /0.247 Ib
Material Type : Rubber

Position : Right
Weight : 1,495 kg /3.296 Ib

51760-0Q000, 517602G000
51760-2G000, 51760-2H000

568202H090, 56820-2H090

568202H000, 56820-2H000

565402H000, 56540-2H000

577241M000

548302H000, 54830-2H000
54830-2H001, 54830-2H100
54830-2H200

545011M100

545001M100

548132H000, 54813-2H000

54813-2H000*

21810-0Q000, 21810-1H300
21810-2H000, 21810-2L.000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

26

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

FORTE

KIA

2009 - 2013

@
.
&
&

T
\&

FORTE

HY12110
ENGINE MOUNTING FRONT

HY12111
ENGINE MOUNTING

HY12112
ENGINE MOUNTING REAR

HY12113
ENGINE MOUNTING REAR RH

HY13004
STEERING BELLOW

Chassis (Front / Rear) : Front
Weight : 1,225 kg /2.701 Ib

Weight : 2,065 kg /4.553 Ib

Chassis (Front / Rear) : Rear
Weight : 2,210 kg /4.872 Ib

Chassis (Front / Rear) : Rear
Position : Right
Weight : 2,420 kg /5.335 Ib

21910-1M000, 21910-1M050
21910-1M100, 21910-1M150

21830-1M000

21930-1H100, 21930-1M200
21930-2L150, 21930-2R100

21930-1M250

57740-1G000, 57740-1H000

2014 - 2018

Product Code and Description

(\—
-
o
—f

HY1040
BALL JOINT FRONT LOWER

Kl2029
TIE ROD END RH

Kli2030
TIE ROD END LH

Ki3025
AXIAL JOINT

HY4056
LINK STABILIZER FRONT

L ems [ el ]

Weight : 0,303 kg / 0.668 Ib
Cone Size [mm] : @15

Ball Pin Thread Size : M12X1,25
Ball Joint Body Diameter : @40,4

Weight : 0,726 kg / 1.601 Ib
Length : 70,3 mm /2.77 inch

Weight : 0,726 kg /1.601 Ib
Length : 70,3 mm /2.77 inch

Weight : 0,568 kg / 1.252 Ib
Length : 242 mm /9.53 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,389 kg /0.858 Ib
Material Type : Celik

Length : 282 mm /11.10 inch
Ball Pin Thread Size : M12X1,5

54500-1R000, 54500-3X000
54500-3Y000, 54500-AA100
54500-H5000, 54500-M0000
54500-Q0000, 54501-1R000
54501-3X000, 54501-3Y000

56820-A7090, 56825-A7500

56820-A7000, 56820-A7500

56540-A7000

548300U000, 54830-0U000
54830-4L000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

27

info@riw.com.tr



RIW

FORTE

STEERING & SUSPENSION
MANUFACTURER

KIA

2014 - 2018

K16042

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16043

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY11026
BUSH FOR WISHBONE SMALL

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

HY12042
ENGINE MOUNTING

HY13005
STEERING BELLOW

Weight : 3,658 kg /8.065 Ib
Material Type : Sheet Metal

Weight : 3,658 kg /8.065 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,098 kg /0.216 Ib
Note : .

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

Position : Left And Right
Weight : 1.84 kg /4.057 Ib

Note : MOTOR TAKOZU SAG BENZINLI

54501-3X700, 54501-A7000

54500-3X700, 54500-A7000

545511, 54551-1E000
545511J000

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

218101R000, 21810-1R000
218101R010, 218101W000
218102v000

57740-3X000

FORTE 2019 - 2023

+*

=i

Y

HY2023
TIE ROD END RH

HY2024
TIE ROD END LH

Weight : 0,527 kg /1.162 Ib
Length : 150 mm /5.91 inch

Weight : 0,527 kg /1.162 Ib
Length : 150 mm /5.91 inch

56825-J7000

56820-J7000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

28

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

KIA

FORTE 2019 -

HY9030
CONTROL ARM REAR UPPER RH

~/

HY9031
CONTROL ARM REAR UPPER LH

v

FORTE KOUP

Weight : 1,145 kg /2.524 Ib

55101-G4AA0
Material Type : Sheet Metal

Weight : 1,145 kg /2.524 Ib

Material Type : Sheet Metal 55100-G4AAD

2009 - 2013

HY1010
BALL JOINT FRONT LOWER

e
|

HY2015
TIE ROD END RH

HY2016
TIE ROD END LH

r—

HY3016
AXIAL JOINT

=

HY4027
LINK STABILIZER FRONT

K16028

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16029

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY12015
STABILISER MOUNTING

5
<
e

Weight : 0,485 kg / 1.069 Ib

Cone Size [mm] : @15

Connection Hole Diameter : @12,5
Ball Pin Thread Size : M12X1,25

51760-0Q000, 517602G000
51760-2G000, 51760-2H000

Weight : 0,6 kg /1.323 Ib
Length : 230 mm /9.06 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

568202H090, 56820-2H090

Weight : 0,6 kg /1.323 Ib
Length : 230 mm /9.06 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

568202H000, 56820-2H000

Weight : 0,345 kg /0.761 Ib
Length : 162,5 mm /6.40 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

565402H000, 56540-2H000

Weight : 0,335 kg /0.739 Ib
Material Type : Celik

Length : 243 mm /9.57 inch
Ball Pin Thread Size : M12X1,5

548302H000, 54830-2H000
54830-2H001, 54830-2H100
54830-2H200

Weight : 4,1 kg /9.039 Ib

45011M1
Material Type : Sheet Metal 5450 00

Weight : 4,1 kg /9.039 Ib

45001M1
Material Type : Sheet Metal 545001M100

Chassis (Front / Rear) : Front
Position : Left And Right

Weight : 0.056 kg /0.123 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI ON)@22mm)

548132H000, 54813-2H000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

29 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

FORTE KOUP

KIA

2009 - 2013

HY12015K
STABILISER MOUNTING KIT

FORTES

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.112 kg /0.247 Ib
Material Type : Rubber

54813-2H000*

2010 - 2013

HY1010
BALL JOINT FRONT LOWER

&
HY2015

“ ‘ TIE ROD END RH
HY2016

b ‘ TIE ROD END LH

HY3016

L

AXIAL JOINT

HY4027
LINK STABILIZER FRONT

K16028

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16029
’ WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY12015
STABILISER MOUNTING

HY12015K
STABILISER MOUNTING KIT

Weight : 0,485 kg / 1.069 Ib

Cone Size [mm] : @15

Connection Hole Diameter : @12,5
Ball Pin Thread Size : M12X1,25

51760-0Q000, 517602G000
51760-2G000, 51760-2H000

Weight : 0,6 kg /1.323 Ib
Length : 230 mm /9.06 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

568202H090, 56820-2H090

Weight : 0,6 kg /1.323 Ib
Length : 230 mm /9.06 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

568202H000, 56820-2H000

Weight : 0,345 kg /0.761 Ib
Length : 162,5 mm /6.40 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

565402H000, 56540-2H000

Weight : 0,335 kg /0.739 Ib
Material Type : Celik

Length : 243 mm /9.57 inch
Ball Pin Thread Size : M12X1,5

548302H000, 54830-2H000
54830-2H001, 54830-2H100
54830-2H200

Weight : 4,1 kg /9.039 Ib

Material Type : Sheet Metal 545011M100

Weight : 4,1 kg /9.039 Ib

45001M1
Material Type : Sheet Metal 545001M100

Chassis (Front / Rear) : Front
Position : Left And Right

Weight : 0.056 kg /0.123 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI ON)@22mm)

548132H000, 54813-2H000

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.112 kg /0.247 Ib
Material Type : Rubber

54813-2H000*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

30 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

FORTES

KIA

2010 - 2013

HY12102
ENGINE MOUNTING RH

HY12110
ENGINE MOUNTING FRONT

HY12111
ENGINE MOUNTING

HY12112
ENGINE MOUNTING REAR

HY12113
ENGINE MOUNTING REAR RH

HY13004
3 STEERING BELLOW

\&

FORTES

Position : Right
Weight : 1,495 kg /3.296 Ib

Chassis (Front / Rear) : Front
Weight : 1,225 kg /2.701 Ib

Weight : 2,065 kg /4.553 Ib

Chassis (Front / Rear) : Rear
Weight : 2,210 kg /4.872 Ib

Chassis (Front / Rear) : Rear
Position : Right
Weight : 2,420 kg /5.335Ib

21810-0Q000, 21810-1H300
21810-2H000, 21810-2L000

21910-1M000, 21910-1M050
21910-1M100, 21910-1M150

21830-1M000

21930-1H100, 21930-1M200
21930-2L150, 21930-2R100

21930-1M250

57740-1G000, 57740-1H000

2014 - 2018

Kl2029
TIE ROD END RH

-k

Kl2030
TIE ROD END LH

K16042
WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16043

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

Weight : 0,726 kg / 1.601 Ib
Length : 70,3 mm /2.77 inch

Weight : 0,726 kg / 1.601 Ib
Length : 70,3 mm /2.77 inch

Weight : 3,658 kg /8.065 Ib
Material Type : Sheet Metal

Weight : 3,658 kg /8.065 Ib
Material Type : Sheet Metal

56820-A7090, 56825-A7500

56820-A7000, 56820-A7500

54501-3X700, 54501-A7000

54500-3X700, 54500-A7000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

31

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

FORTES

KIA

2014 - 2018

o
e
(=

FORTES

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

HY13005
STEERING BELLOW

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

57740-3X000

2019 - 2023

-

i

M

HY2023
TIE ROD END RH

HY2024
TIE ROD END LH

GRAND CARNIVAL

Weight : 0,527 kg /1.162 Ib
Length : 150 mm /5.91 inch

Weight : 0,527 kg /1.162 Ib
Length : 150 mm /5.91 inch

56825-J7000

56820-J7000

2006 - 2014

o — )

— 3

Ki3021
AXIAL JOINT

Kl14025
LINK STABILIZER FRONT RH

K14026
LINK STABILIZER FRONT LH

Kl4035
LINK STABILIZER REAR

Weight : 0,611 kg /1.347 Ib
Length : 211 mm /8.31 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,494 kg /1.089 Ib
Material Type : Celik

Length : 322 mm /12.68 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,494 kg /1.089 Ib
Material Type : Celik

Length : 322 mm /12.68 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,246 kg /0.542 Ib
Material Type : Celik

Length : 72 mm /2.83 inch

Ball Pin Thread Size : M10X1,25

577244D000, 57724-4D000

548404D000, 54840-4D000

548304D000, 54830-4D000

555304D000, 55530-4D000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

32

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

K2500

SD

KIA

2003 - 2009

i
-
—
i
adlir
D
d

KI1016
BALL JOINT FRONT LOWER

Kl2012
TIE ROD END

KI3017
AXIAL JOINT

K15008

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

KI15009

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

K16055

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

K16056

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

KI11009
BUSH FOR CONTROL ARM UPPER

KI11010
BUSH

Weight : 0,615 kg / 1.356 Ib
Cone Size [mm] : @19,4

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : 46,8

Weight : 0,453 kg /0.999 Ib

Weight : 0,47 kg /1.036 Ib
Length : 182 mm /7.17 inch
Body Thread Size : M18X1,5
Ball Pin Thread Size : M14X1,5

Weight : 4,635 kg /10.218 Ib
Material Type : Sheet Metal

Weight : 4,635 kg /10.218 Ib
Material Type : Sheet Metal

Weight : 6,825 kg / 15.047 Ib
Material Type : Forged Steel

Weight : 6,825 kg / 15.047 Ib
Material Type : Forged Steel

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0.26 kg /0.573 Ib

Chassis (Front / Rear) : Front
Position : Upper Left And Right
Weight : 0.14 kg /0.309 Ib
Note : Short

545404E000%, 545414E000*

0K60B32270, OK60B-32-270

54540-4E000

54510-4E000

54420-4E001, 54420-4E200

54410-4E001, 54410-4E200

54449-4E000

54453-4E000, S08334840A

1999 -

K16055

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

Weight : 6,825 kg / 15.047 Ib
Material Type : Forged Steel

54420-4E001, 54420-4E200

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

33

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

K2700

KIA

1999 -

K5

K16056

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER LH

KI11008
BUSH FOR CONTROL ARM

KI11009

BUSH FOR CONTROL ARM UPPER

Weight : 6,825 kg / 15.047 Ib
Material Type : Forged Steel

Position : Left And Right
Weight : 0.3 kg /0.661 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0.26 kg /0.573 Ib

DL3

54410-4E001, 54410-4E200

0K63B34820, 0K63B-34820
0S08334820, 0S083-34820

54449-4E000

2021 -

K12039
TIE ROD END RH

iy

--1‘

‘bu--

MAGENTIS

Kl2040
TIE ROD END LH

Weight : 0,734 kg /1.618 Ib
Length : 213 mm /8.39 inch

Weight : 0,734 kg /1.618 Ib
Length : 213 mm /8.39 inch

GD, MS

56825-P2000

56820-P2000

2001 - 2005

HY1006
BALL JOINT FRONT LOWER

HY1007
BALL JOINT FRONT UPPER

HY2013
TIE ROD END RH

HY2014
TIE ROD END LH

Weight : 0,65 kg / 1.433 b

Cone Size [mm] : 318

Connection Hole Diameter : @12,5
Ball Pin Thread Size : M14X1,5

Weight : 0,2 kg /0.441 Ib

Cone Size [mm] : @13,3

Ball Pin Thread Size : M10X1,25
Ball Joint Body Diameter : @33,7

Weight : 0,619 kg / 1.365 Ib
Length : 170 mm /6.69 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,3

Weight : 0,624 kg / 1.376 Ib
Length : 170 mm /6.69 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,3

5176038000, 51760-38000

5440338A00, 54403-38A00
544303F600, 54430-3F600
54430-3K000

5682038900, 56820-38900
5682039000, 5778038010
57780-38010

56820-38000, 5778038000
57780-38000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

34

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MAGENTIS

GD, MS

KIA

2001 - 2005

l e——

MAGENTIS

HY3011
AXIAL JOINT

HY4015
LINK STABILIZER FRONT

HY4016
LINK STABILIZER REAR

HY6027

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

HY6028

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

HY6053

WISHBONE (WITH BALL JOINT)
FRONT UPPER RH

HY6054

WISHBONE (WITH BALL JOINT)
FRONT UPPER LH

HY9013
CONTROL ARM REAR LOWER

HY12125
ENGINE MOUNTING FRONT

Weight : 0,455 kg / 1.003 Ib
Length : 166,5 mm /6.56 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,209 kg / 0.461 Ib
Material Type : Celik

Length : 102,5 mm /4.04 inch
Ball Pin Thread Size : M10X1,5
Note : Front

Weight : 0,28 kg /0.617 Ib
Material Type : Celik

Length : 193,5 mm /7.62 inch
Ball Pin Thread Size : M10X1,25
Note : Rear

Weight : 5,7 kg / 12.566 Ib
Material Type : Sheet Metal

Weight : 5,7 kg / 12.566 Ib
Material Type : Sheet Metal

Weight : 2,200 kg /4.850 Ib
Material Type : Sheet Metal

Weight : 2,200 kg /4.850 Ib
Material Type : Sheet Metal

Weight : 0,812 kg /1.790 Ib
Material Type : Steel Tube

Chassis (Front / Rear) : Front
Weight : 1,165 kg /2.568 Ib

MG

5772438000, 57724-38000
5772438010, 57724-38010

4056A038, 5483038100
54830-38100, 5483038110
5483039000, 54830-39000

MB573540

5553038600, 55530-38600

54501-36820, 54501-38000
54501-38010, 54501-38011

54500-36820, 54500-38000
54500-38010, 54500-38011

5442038000, 54420-38000

5441038000, 54410-38000

5525038000, 5525039000

21910-38101, 21910-38600
21910-38601, 21910-38602
21910-38650, 21910-38651
21910-38850, 21910-38851
21911-38850

2005 - 2010

o

Kl2017
TIE ROD END RH

Weight : 0,739 kg /1.629 Ib

568202G900, 56820-2G900

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

35

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MAGENTIS

MG

KIA

2005 - 2010

Kl2018
TIE ROD END LH

2avde | [|])

KI3019
AXIAL JOINT

Kl14023
LINK STABILIZER FRONT

Kl4024
LINK STABILIZER REAR

HY12043
MOUNTING, REAR AXLE BUSH

HY12066
MOUNTING, REAR AXLE BUSH

Ki12023
ENGINE MOUNTING REAR

Kl12024
ENGINE MOUNTING FRONT RH

Kl12025
ENGINE MOUNTING FRONT

KI12026
ENGINE MOUNTING FRONT

Weight : 0,739 kg /1.629 Ib

Weight : 0,538 kg /1.186 Ib

Weight : 0,38 kg /0.838 Ib
Material Type : Celik

Length : 241 mm /9.49 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,18 kg /0.397 Ib
Material Type : Celik

Length : 180 mm /7.09 inch
Ball Pin Thread Size : M10X1,25

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.326 kg /0.719 Ib

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

Chassis (Front / Rear) : Rear
Weight : 1,665 kg /3.671 Ib

Chassis (Front / Rear) : Front
Position : Right
Weight : 2,055 kg /4.530 Ib

Chassis (Front / Rear) : Front
Weight : 1,515 kg /3.340 Ib

Chassis (Front / Rear) : Front
Weight : 2,995 kg /6.603 Ib

568202G000, 56820-2G000

577241D000, 57724-1D000
57724-2G000, 577242G010
57724-2G010

548302G000, 54830-2G000

555301D000, 55530-1D000
555302G000, 55530-2G000

52760-2G000, 55130-4D000

55220-2D000, 55227-2D000

21930-2G000, 21930-2G100

21810-2G400

21910-2G000, 21910-2G100

21830-1D700, 21830-2G100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

36

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

NIRO

»

=

s

HY1029
BALL JOINT FRONT LOWER

Kl2023
TIE ROD END RH

Kl2024
TIE ROD END LH

HY3042
AXIAL JOINT

HY4056
LINK STABILIZER FRONT

HY6103

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

HY6104

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY11066
BUSH FOR LINK STABILIZER REAR

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

DE

Weight : 0,316 kg /0.697 Ib

Weight : 0,588 kg /1.296 Ib

Weight : 0,588 kg /1.296 Ib

Weight : 0,710 kg / 1.565 Ib

Weight : 0,389 kg /0.858 Ib
Material Type : Celik
Length : 282 mm /11.10 inch

Ball Pin Thread Size : M12X1,5

Weight : 2,914 kg /6.424 Ib
Material Type : Aluminum

Weight : 2,914 kg /6.424 Ib
Material Type : Aluminum

Chassis (Front / Rear) : Rear
Stabilizer Bar 1 : HY4083

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

KIA

2017 -

PART OF 54500H8000, PART OF

54501H8000

56825-G2000

56820-G2000

56540F2000, 56540-F2000

548300U000, 54830-0U000
54830-4L000

54501G2100

54500G2100

55530-G2000

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

37

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

OPIRUS

3.5

KIA

2003 - 2009

Kl3032
AXIAL JOINT

l_’

OPIRUS

Weight : 0,485 kg /1.069 Ib
Length : 200 mm /7.87 inch

3.8

577243F500

2006 -

Kl13032
AXIAL JOINT

l_ﬂ"

OPIRUS

Weight : 0,485 kg /1.069 Ib
Length : 200 mm / 7.87 inch

44684

577243F500

2003 - 2009

= HY2013

_,;‘ TIE ROD END RH

* HY2014

L TIE ROD END LH

OPIRUS

Weight : 0,619 kg /1.365 Ib
Length : 170 mm /6.69 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : 13,3

Weight : 0,624 kg / 1.376 Ib
Length : 170 mm /6.69 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : 13,3

44776

5682038900, 56820-38900
5682039000, 5778038010
57780-38010

56820-38000, 5778038000
57780-38000

2006 -

HY12022
STABILISER MOUNTING

HY12022K
. ’ STABILISER MOUNTING KIT

OPTIMA

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.078 kg /0.172 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.156 kg / 0.344 Ib
Material Type : Rubber

JF

548133K100, 54813-3K100

54813-3K100*

2016 - 2020

4 | KI2037

ﬂ TIE ROD END RH

Weight : 0,735 kg /1.620 Ib

56825-E6090

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

38

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

OPTIMA

JF

KIA

2016 - 2020

IS UREED]

- >
=
@ =Y
B
o
-

Kl2038
TIE ROD END LH

HY3046
AXIAL JOINT

KI3036
AXIAL JOINT

HY4078
LINK STABILIZER FRONT RH

HY4079
LINK STABILIZER FRONT LH

Kl4041
LINK STABILIZER REAR RH

Kl4042
LINK STABILIZER REAR LH

HY9022
CONTROL ARM REAR UPPER RH

HY9023
CONTROL ARM REAR UPPER LH

K16065

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16066

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 0,735 kg /1.620 Ib

Weight : 0,650 kg /1.433 Ib
Length : 230 mm /9.06 inch

Weight : 0,560 kg /1.235 Ib
Length : 284 mm /11.18 inch

Weight : 0,540 kg /1.190 Ib
Material Type : Celik
Length : 349 mm /13.74 inch

Weight : 0,540 kg /1.190 Ib
Material Type : Celik
Length : 349 mm / 13.74 inch

Weight : 0,345 kg /0.761 Ib
Material Type : Celik
Length : 94 mm /3.70 inch

Weight : 0,345 kg /0.761 Ib
Material Type : Celik
Length : 94 mm /3.70 inch

Weight : 1,085 kg /2.392 Ib
Material Type : Aluminum

Weight : 1,085 kg /2.392 Ib
Material Type : Aluminum

Weight : 2,950 kg /6.504 Ib
Material Type : Aluminum

Weight : 2,950 kg / 6.504 Ib
Material Type : Aluminum

56820-E6000

57724-C1000

57724-D4000

54840-C1000, 54840-E6000

54830-C1000, 54830-E6000

55540-C1100

55530-C1100

55120-C3000

55110-C3000

54501-E6100

54500-E6100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

39

info@riw.com.tr



RIW

OPTIMA

STEERING & SUSPENSION
MANUFACTURER

JF

KIA

2016 - 2020

=

OPTIMA

HY11046

BUSH FOR CONTROL ARM LOWER

HY11063

BUSH FOR CONTROL ARM REAR

UPPER

KI11018

BUSH FOR CONTROL ARM FRONT

LOWER

HY12066
MOUNTING, REAR AXLE BUSH

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,26 kg /0.573 Ib

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,165 kg / 0.364 Ib

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,455 kg /1.003 Ib

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

MG

54500C8000~, 54500C8000-P
54501C8000~, 54501C8000-P
54551C1000

55110-C3000*, 55120-C3000*
55120-J9500%, 55121-J9500*

54500-E6100, 54501-E6100

55220-2D000, 55227-2D000

2005 - 2010

K14024

li) ‘1
LINK STABILIZER REAR

OPTIMA

Ki12023
ENGINE MOUNTING REAR

Kl12024
ENGINE MOUNTING FRONT RH

Kl12025
ENGINE MOUNTING FRONT

Weight : 0,18 kg /0.397 Ib
Material Type : Celik

Length : 180 mm /7.09 inch
Ball Pin Thread Size : M10X1,25

Chassis (Front / Rear) : Rear
Weight : 1,665 kg /3.671 Ib

Chassis (Front / Rear) : Front
Position : Right
Weight : 2,055 kg /4.530 Ib

Chassis (Front / Rear) : Front
Weight : 1,515 kg /3.340 Ib

TF

555301D000, 55530-1D000
555302G000, 55530-2G000

21930-2G000, 21930-2G100

21810-2G400

21910-2G000, 21910-2G100

2010 - 2015

.

HY1023
BALL JOINT FRONT LOWER

Weight : 0,675 kg / 1.488 Ib

Connection Hole Diameter : 13,5

5453027010, 5453035100
54530-35100, 54530B2100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

40

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

OPTIMA TF 2010 - 2015

-
g
0
.
ik
——e
w—
e
—

HY2038
TIE ROD END RH

HY2039
TIE ROD END LH

HY3039
AXIAL JOINT

HY4059
LINK STABILIZER REAR

HY4073
LINK STABILIZER FRONT RH

HY4074
LINK STABILIZER FRONT LH

Kl4022
LINK STABILIZER FRONT

Kl4024
LINK STABILIZER REAR

K14029
LINK STABILIZER FRONT RH

K14030
LINK STABILIZER FRONT LH

HY6105

CONTROL ARM (WITH BALL JOINT)

FRONT LOWER RH

Weight : 0,831 kg /1.832 b
Length : 233 mm /9.17 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,4

Weight : 0,831 kg /1.832 b
Length : 233 mm /9.17 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : 313,4

Weight : 0,566 kg / 1.248 Ib
Length : 193 mm /7.60 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,331 kg /0.730 Ib
Material Type : Celik

Length : 88 mm /3.46 inch

Ball Pin Thread Size : M12X1,25

Weight : 0,440 kg /0.970 Ib

Material Type : Celik

Length : 321 mm /12.64 inch

Ball Pin Thread Size : M12X1,5

Note : KIA OPTIMA - ONLY: 2012-2015

Weight : 0,440 kg /0.970 Ib

Material Type : Celik

Length : 321 mm /12.64 inch

Ball Pin Thread Size : M12X1,5

Note : KIA OPTIMA - ONLY: 2012-2015

Weight : 0,372 kg /0.820 Ib
Material Type : Celik

Length : 270 mm /10.63 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,18 kg /0.397 Ib
Material Type : Celik

Length : 180 mm /7.09 inch
Ball Pin Thread Size : M10X1,25

Weight : 0,45 kg /0.992 Ib
Material Type : Celik

Length : 351 mm /13.82 inch
Ball Pin Thread Size : M12X1,5

Weight : 0,45 kg /0.992 Ib
Material Type : Celik

Length : 351 mm /13.82 inch
Ball Pin Thread Size : M12X1,5

Weight : 5,730 kg /12.632 Ib
Material Type : Sheet Metal

56820-2S000, 5682025050
56820-2S050, 568202T500
56820-2T500, 56820-3Q500

5682025000, 56820-2S000
56820-2S050, 568202T000
56820-2T000, 56820-3Q000

57724-2T500, 57724-2W000
57724-3Q000

55530-3R000, 55540-3R000

54840-3R000, 54840-3R00-0AS

54830-3R000, 54830-3R00-0DS

54830-2T000, 54830-3Q000

555301D000, 55530-1D000
555302G000, 55530-2G000

548402T000, 54840-2T000

548302T000, 54830-2T000

545014C000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

41

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

OPTIMA

TF

KIA

2010 - 2015

HY6106

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY9001

TRACK CONTROL ARM REAR
UPPER

K16027

TRACK CONTROL ARM (WITH BALL
JOINT) FRONT LOWER LH

M
K16026
TRACK CONTROL ARM (WITH BALL
JOINT) FRONT LOWER RH
=0 KI6040

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

o

K16041

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

[
¢

A

KI19003
CONTROL ARM REAR LOWER

KI19004
CONTROL ARM REAR UPPER

BUSH FOR CONTROL ARM REAR

HY11040
BUSH FOR WISHBONE BIG

HY11046
BUSH FOR CONTROL ARM LOWER

—
i
@ FO11127
[ |

Weight : 5,730 kg /12.632 Ib
Material Type : Sheet Metal

Weight : 1,5 kg /3.307 Ib
Material Type : Sheet Metal

Weight : 4,748 kg /10.468 Ib
Material Type : Sheet Metal

Weight : 4,748 kg / 10.468 Ib
Material Type : Sheet Metal

Weight : 3,293 kg /7.260 Ib
Material Type : Aluminum

Weight : 3,293 kg /7.260 Ib
Material Type : Aluminum

Weight : 0,660 kg / 1.455 Ib
Material Type : Forged Steel

Weight : 1,242 kg /2.738 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Weight : 0,115 kg /0.254 Ib

Position : Left And Right
Weight : 0,42 kg /0.926 Ib

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,26 kg /0.573 Ib

545004C000

551002S000, 55100-2S000

5450127010, 54501-2T010
545012T030, 54501-2T030
5450135100, 54501-3S100

5450027010, 54500-2T010
5450027030, 54500-2T030
5450035100, 54500-3S100

54501-4R000

54500-4R000

552503Q010, 552503R000
552503S000

5510025050, 551003Q000
551003R000, 551003R050
5510042100

1387629%, 1737518*
55250-3Q010*, 55250-3R000*
55250-3S000*

54584-A6000

54500C8000*, 54500C8000-P
54501C8000%, 54501C8000-P
54551C1000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

42

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

OPTIMA TF 2010 - 2015

HY12066

Chassis (Front / Rear) : Rear
. MOUNTING, REAR AXLE BUSH Weight : 0,086 kg /0.190 Ib SRECURZ D00, S22
HY12057 Chassis (Front / Rear) : Front
assIs ron ear) . rron
0 STABILISER MOUNTING FRONT Weight : 0,105 kg /0.231 Ib 54813-2T000, 54813-35110
e HY12057K Chassis (Front / Rear) : Front
e STAEILEER HEUNT e TRaRT Weight : 0,210 kg /0.463 Ib 54813-2T000, 54813-35110
KIT Note : Kit
HY12127
ENGINE MOUNTING Weight : 1,695 kg /3.737 Ib 21950-33000
] KI12022 Chassis (Front / Rear) : Rear
BN > ENGINE MOUNTING REAR LOWER | Position : Lower 21950-25000, 21950-2Y700
m’ Weight : 1,385 kg /3.053 Ib
PICANTO BA 2004 - 2011
: KI1006 Weight : 0,305 kg /0.672 Ib 5435007000, 54350-07000
. BALL JOINT FRONT LOWER Ball Joint Body Diameter : @40,3 5453007000, 54530-07000
54530-0X000
Weight : 0,28 kg /0.617 Ib
- KI2009 Length : 71 mm /2.80 inch
\ ‘ I BEE END Body Thread Size : M12X1,25 5682007200, 56820-07200
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,3
KI3010 Weight : 0,571 kg / 1.259 Ib

‘I\Qh\ Length : 285 mm /11.22 inch , 5772407100
AXIAL JOINT Body Thread Size : M16X1,5 57724-07100

Ball Pin Thread Size : M12X1,25

Weight : 0,358 kg /0.789 Ib

Ki4o16 Material Type : Celik
.——* aterial Type : Gell 5484007000, 54840-07000

. LINK STABILIZER FRONT RH Length : 225 mm / 8.86 inch
Ball Pin Thread Size : M10X1,5

K14017 Weight : 0,33 kg /0.728 Ib

Material Type : Celik
?—b LINK STABILIZER FRONT LH Length : 225 mm /8.86 inch 5483007000, 54830-07000

Ball Pin Thread Size : M10X1,5

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

43 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

PICANTO

BA

KIA

2004 - 2011

o
H,
r
~
Fae
e
L 2
ot
o

K16003

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16004

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

K16057

CONTROL ARM (WITH BALL JOINT)

FRONT LOWER RH

K16058

CONTROL ARM (WITH BALL JOINT)

FRONT LOWER LH

KI11003
BUSH FOR WISHBONE CENTER

KI11004
BUSH FOR WISHBONE REAR

HY12040
MOUNTING, AXLE BEAM

HY12035
STABILISER MOUNTING

HY12035K
STABILISER MOUNTING KIT

KI12002
STABILISER MOUNTING FRONT

KI12002K

STABILISER MOUNTING FRONT
KIT

Weight : 3,515 kg /7.749 Ib
Material Type : Sheet Metal

Weight : 3,515 kg /7.749 Ib
Material Type : Sheet Metal

Weight : 3,755 kg /8.278 Ib
Material Type : Sheet Metal

Weight : 3,755 kg /8.278 Ib
Material Type : Sheet Metal

Position : Center Left And Right
Weight : 0,25 kg /0.551 Ib

Position : Left And Right
Weight : 0,25 kg / 0.551 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.543 kg /1.197 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.04 kg /0.088 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI (ON)

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.08 kg /0.176 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI ON IKILI

Chassis (Front / Rear) : Front
Weight : 0,050 kg /0.110 Ib

Chassis (Front / Rear) : Front
Weight : 0,100 kg / 0.220 Ib
Note : Kit

5450107100, 54501-07100
54501-07150

5450007100, 54500-07100
54500-07150

5450107360, 5450107361

5450007360, 5450007361

5455107000, 54551-07000

5458407000, 54584-07000
545840X000

551600J000, 55160-0J000
551601, 55160-1E000

5481207000, 54812-07000
548120X000

5481207000, 54812-07000
548120X000

54812-07100, 54812-07200

54812-07100, 54812-07200

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

44

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

PICANTO

BA

KIA

2004 - 2011

S

PICANTO

Kl112030

ENGINE MOUNTING CENTER RH

Ki12031
ENGINE MOUNTING FRONT

HY15001

Position : Center Right
Weight : 1,820 kg /4.012 Ib

Chassis (Front / Rear) : Front
Weight : 0,905 kg /1.995 Ib

Chassis (Front / Rear) : Rear

SHOCK ABSORBER DUST BELLOW | Weight : 0,060 kg /0.132 Ib

JA

21810-07000, 21810-07050

21930-07000, 21930-07101
21931-07000

55370-1C000

2017 -

)
G
b
—
“
e
N

KI1014
BALL JOINT FRONT LOWER

Kl2027
TIE ROD END RH

Kl2028
TIE ROD END LH

Ki3023
AXIAL JOINT

Kl4038
LINK STABILIZER FRONT

K16052

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

Kl16053

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

Weight : 0,314 kg /0.692 Ib

Weight : 0,520 kg /1.146 Ib
Length : 170 mm /6.69 inch

Weight : 0,520 kg / 1.146 Ib
Length : 170 mm /6.69 inch

Weight : 0,436 kg /0.961 Ib
Length : 203,5 mm /8.01 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,430 kg /0.948 Ib
Material Type : Celik

Weight : 2,980 kg /6.570 Ib
Material Type : Sheet Metal

Weight : 2,980 kg / 6.570 Ib
Material Type : Sheet Metal

54500-G6000

56825-G6900

56820-G6000

56540-G6000

54830G6000

54501-G6000

54500-G6000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

45

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

PICANTO JA 2017 -

HY11026 Chassis (Front / Rear) : Front
Position : Lower Left And Right 545511, 54551-1E000
BUSH FOR WISHBONE SMALL Weight : 0,098 kg /0.216 Ib 545511J000
Note : .
HY11034 Chassis (Front / Rear) : Front

545840Q000, 54584-0Q000

Position : Left And Right 545842H000, 54584-2H000

Weight : 0,439 kg /0.968 Ib

BUSH FOR WISHBONE REAR BIG

- HY13002
STEERING BELLOW 56528-H8000, 57740-B4000

PICANTO TA 2011 - 2017

KI11009
BALL JOINT FRONT LOWER

; ot Weight : 0,305 kg /0.672 Ib
eight : 0,305 kg /0.
BALL JOINT FRONT LOWER Ball Joint Body Diameter : 2140, 1 54530-2K000
=
KI2013

56820-1Y550, 56820-1Y551

Weight : 0,613 kg /1.351 Ib 568204L090

TIE ROD END RH

Ki12014

I 56820-1Y500, 56820-1Y501
h TIE ROD END LH Weight : 0,613 kg /1.351 Ib 5682041000

KI2015

TIE ROD END RH Weight : 0,559 kg /1.232 Ib 56820-1Y551, 568204090

KI12016

TIE ROD END LH Weight : 0,559 kg /1.232 Ib 56820-1Y501, 568204L000

KI3018 Weight : 0,478 kg / 1.054 Ib
h Length : 183 mm /7.20 inch 577241Y500, 57724-1Y500
AXIAL JOINT Body Thread Size : M20X1,5 577241Y501

Ball Pin Thread Size : M14X1,5

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

46 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

PICANTO TA 2011 - 2017

A3 | KI3026 Weight : 0,476 kg /1.049 Ib

< Length : 195,5 mm /7.70 inch
- /“ AXIAL JOINT Body Thread Size : M16X1,5 577241Y600

Ball Pin Thread Size : M14X1,5

Weight : 0,520 kg / 1.146 Ib
Length : 218 mm / 8.58 inch
AXIAL JOINT Body Thread Size : M14X1,5
Ball Pin Thread Size : M14X1,5

K13028
577241Y000

o —

Weight : 0,291 kg /0.642 Ib
Material Type : Celik
LINK STABILIZER FRONT RH Length : 216 mm / 8.50 inch

Ball Pin Thread Size : M10X1,5

HY4025
54840-1J000

Weight : 0,291 kg /0.642 Ib

T_‘ Y4026 Material Type : Celik
aterial lype : Gell
LINK STABILIZER FRONT LH Length - 216 mm /.8.50 Inch 54830-1J000

Ball Pin Thread Size : M10X1,5

K16018
Weight : 2,66 kg /5.864 Ib

WISHBONE (WITH BALL JOINT) Material Type : Sheet Metal
FRONT LOWER RH

54501-1Y000, 54501-1Y100

Kl16019
Weight : 2,66 kg /5.864 Ib

WISHBONE (WITH BALL JOINT) Material Type : Sheet Metal
FRONT LOWER LH

54500-1Y000, 54500-1Y100

HY12028 Position : Upper Left And Right

TOP STRUT MOUNTING FRONT ~ Veight: 0.362 kg /0.798 b
UPPER Material Type : Amortisér Takozu Sag-Sol

54611-1J000, 546111R000
54611-1R000

HY13001

BELLOW, STEERING Weight : 0,066 kg /0.146 Ib 57728-17000, 57740-07600

HY15001
Chassis (Front / Rear) : Rear

SHOCK ABSORBER DUST BELLOW | Weight : 0,060 kg /0.132 Ib 55370-1C000

PREGIO 1997 - 2004

KI1005 Weight : 0,81 kg /1.786 Ib
6 Cone Size [mm] : @21,6 0K72A34510, OK72A34510

BALL JOINT FRONT LOWER Ball Pin Thread Size : M20X1,5 OK72A34510A
Ball Joint Body Diameter : @47,3

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

47 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

PREGIO 1997 - 2004

Weight : 0,422 kg /0.930 Ib

Ball Pin Thread Size : M12X1,25 OK9A232280

Ball Pin Cone Diameter : 312,6

Weight : 0,675 kg /1.488 Ib

KI3005 .
E@j Length : 274 mm /10.79 inch 0K7232270, 0K72A32270
— AXIAL JOINT Body Thread Size : M17X1 0K72A32270A
Ball Pin Thread Size : M14X1,5
Ki4009 Weight : 0,218 kg /0.481 Ib
i@ LINK STABILIZER FRONT Material Type : Celik 0K72A34150A, OK72A34150A
Length : 77 mm /3.03 inch
KI6013

Weight : 2.73 kg /6.019 Ib

YJVIJ’?DEBRONE (WITHOUT BALL JOINT) = Material Type : Forged Steel

0K72A34200A, 0K72A-34-200A

KI11020 Chassis (Front / Rear) : Front
BUSH FOR LINK STABILIZER Weight : 0,007 kg /0.015 Ib 0K72A34150A%, OK72A34150A*
FRONT Stabilizer Bar 1 : KI4009

PRIDE 1991 - 2000

Weight : 0,342 kg /0.754 Ib

- Ar Length : 73 mm /2.87 inch 8AB132280, B09232280
2. =ﬁ TIE ROD END Body Thread Size : M12X1,25 E7GZ3A130A, KB09232280
E Ball Pin Thread Size : M12X1,25 KKY0132280. MB09232280

Ball Pin Cone Diameter : 312,5

Weight : 0,46 kg / 1.014 Ib

Ki13008
0 Length : 259,5 mm /10.22 inch D0013224X, KK15032240
FeSm== AXIAL JOINT Body Thread Size : M16X1,5 KK150-32240, MD0013224X
Ball Pin Thread Size : M12X1,25
K15003 | D03134310A, D03134320A
"_. TRACK CONTROL ARM (WITH BALL Material Type : Forged Steel KKY0134310, KKY0134310A
JOINT) FRONT LOWER KKY0134390A
KI11002

Position : Left And Right

BUSH FOR TRACK CONTROL ARM | Weight : 0,098 kg /0.216 Ib
REAR

KKY01-34460

KI11007
Position : Center Left And Right

BUSH FOR TRACK CONTROL ARM | \Weight : 0.04 kg /0.088 Ib
CENTER

MDO00134153A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

48 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

QUORIS

KIA

2011 -

RETONA

HY12043

MOUNTING, REAR AXLE BUSH

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.326 kg /0.719 Ib

FK

52760-2G000, 55130-4D000

1997 - 2001

RIO

KI1019
BALL JOINT FRONT LOWER

K12031
TIE ROD END RH

Kl2032
TIE ROD END LH

Kl2033
TIE ROD END RH

Kl2034
TIE ROD END LH

Weight : 0,900 kg /1.984 Ib

Weight : 0,635 kg / 1.400 Ib
Length : 150 mm /5.91 inch

Weight : 0,635 kg / 1.400 Ib
Length : 150 mm /5.91 inch

Weight : 0,760 kg / 1.676 Ib
Length : 150 mm /5.91 inch

Weight : 0,760 kg / 1.676 Ib
Length : 150 mm /5.91 inch

IDC

K011345101, KO11345101B
K01134510B

0K01132290A*

0K01132270A*

0K01132280*

0K01132270A*

2000 - 2005

-

i

Kl2006
TIE ROD END

KI3006
AXIAL JOINT

Kl4010
LINK STABILIZER FRONT RH

Weight : 0,307 kg /0.677 Ib
Length : 73 mm /2.87 inch
Body Thread Size : M12X1,25
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @13,3

Weight : 0,481 kg / 1.060 Ib
Length : 279 mm /10.98 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,25

Weight : 0,288 kg /0.635 Ib
Material Type : Celik

Length : 240 mm /9.45 inch
Ball Pin Thread Size : M10X1,5

5682007000, 56820-07000
56820-07200, F4ABZ3A130A
MDX5032280, MDX50-32280

KDX5332240, KDX5332240A
KDX5332240B

O0K033C3415A, 0K33C34150A
OK33C34150A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

49

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

RIO

IDC

KIA

2000 - 2005

K14011

i
“_‘ LINK STABILIZER FRONT LH

K14019

. L LINK STABILIZER FRONT RH

K14020

‘ . LINK STABILIZER FRONT LH

K15001

TRACK CONTROL ARM (WITH BALL
JOINT) FRONT LOWER RH

K15002
TRACK CONTROL ARM (WITH BALL
h =)

JOINT) FRONT LOWER LH

K15006

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K15007

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

KI111001

BUSH FOR TRACK CONTROL ARM
REAR

[ =S
HY12067
MOUNTING, FRONT AXLE BUSH

LOWER

KI12029
ENGINE MOUNTING REAR

KI12015
RUBBER BUFFER FRONT

Weight : 0,289 kg / 0.637 Ib
Material Type : Celik

Length : 240 mm /9.45 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,285 kg /0.628 Ib
Material Type : Celik

Length : 219 mm /8.62 inch
Ball Pin Thread Size : M10X1,25

Weight : 0,285 kg / 0.628 Ib
Material Type : Celik

Length : 219 mm /8.62 inch
Ball Pin Thread Size : M10X1,25

Material Type : Forged Steel

Material Type : Forged Steel

Weight : 2,125 kg /4.685 Ib
Material Type : Forged Steel

Weight : 2,125 kg /4.685 Ib
Material Type : Forged Steel

Position : Left And Right
Weight : 0,184 kg / 0.406 Ib

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,188 kg / 0.414 Ib

Chassis (Front / Rear) : Rear
Weight : 1,505 kg /3.318 Ib

Chassis (Front / Rear) : Front
Weight : 0,040 kg /0.088 Ib

0K33C34160A, OK33C34160A

54830FDO000, 54830-FD000

54820FD000, 54820-FD000

0K30B34300B, OK30B34300B

0K30B34350B, OK30B34350B

54501FD000

54500FD000

54540-FD000

21810-FD060

KK37B34111

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

50

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

RIO

Product Code and Description
ot 3

e
———
B
———
=
—
—&

<

<

HY1004
BALL JOINT FRONT LOWER

Kl2010
TIE ROD END RH

Kl2011
TIE ROD END LH

Ki3012
AXIAL JOINT RH

Ki13013
AXIAL JOINT LH

KI3035
AXIAL JOINT

HY4010
LINK STABILIZER FRONT RH

HY4011
LINK STABILIZER FRONT LH

HY6015

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

HY6016

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

HY6017

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

nJB

KIA

2005 - 2011

Weight : 0,46 kg / 1.014 Ib
Cone Size [nm] : @15

Connection Hole Diameter : @12,5
Ball Pin Thread Size : M12X1,5

Weight : 0,541 kg /1.193 Ib
Length : 189 mm /7.44 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,541 kg /1.193 Ib
Length : 189 mm / 7.44 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,385 kg /0.849 Ib
Length : 180 mm /7.09 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,382 kg /0.842 Ib
Length : 180 mm /7.09 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,409 kg /0.902 Ib
Length : 193 mm /7.60 inch

Weight : 0,362 kg /0.798 Ib
Material Type : Celik

Length : 285 mm / 11.22 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,359 kg /0.791 Ib
Material Type : Celik

Length : 285 mm /11.22 inch
Ball Pin Thread Size : M10X1,5

Weight : 3,462 kg /7.632 Ib
Material Type : Sheet Metal

Weight : 3,462 kg /7.632 Ib
Material Type : Sheet Metal

Weight : 3,462 kg /7.632 Ib
Material Type : Sheet Metal

51760-0P000, 517601G000
51760-1G000, 51760-1G001

568201G000, 56820-1G000

568201G900, 56820-1G900

577241G100, 57724-1G100

577241G000, 57724-1G000

565401G000

54840-1E000, 548401G000
54840-1G000, 54840-1G500

548301G000, 54830-1G000
54830-1G500, 54830-2C000

5, 45011E+105
54501-1E100

5, 45001E+105
54500-1E100

545011, 54501-1E000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

51

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

RIO

nJB

KIA

2005 - 2011

AT I FLY XY D)

HY6018

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

HY11030

BUSH FOR WISHBONE REAR BIG

HY11005

MOUNTING, FRONT AXLE BUSH

LOWER

HY12040
MOUNTING, AXLE BEAM

HY12023
STABILISER MOUNTING

HY12023K
STABILISER MOUNTING KIT

HY12024
STABILISER MOUNTING

HY12024K
STABILISER MOUNTING KIT

HY12001
STRUT MOUNTING FRONT RH

HY12002
STRUT MOUNTING FRONT LH

RN12180
STRUT SUPPORT MOUNTING

Weight : 3,462 kg /7.632 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,423 kg /0.933 Ib
Note : .

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,188 kg / 0.414 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.543 kg /1.197 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.066 kg /0.146 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI ON DIESEL

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.132 kg /0.291 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI IKILI
Chassis (Front / Rear) : Front
Position : Left And Right

Weight : 0.056 kg /0.123 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI BENZINLI 19,5 MM

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.112 kg /0.247 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI IKILI

Position : Right
Other Side : HY12002
Weight : 0.559 kg /1.232 Ib

Note : AMORTISOR TAKOZU SAG

Position : Left
Other Side : HY12001
Weight : 0.559 kg /1.232 Ib

Note : AMORTISOR TAKOZU SOL

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.155 kg /0.342 Ib

Material Type : Amortisér Rulmani

545001, 54500-1E000

545512, 54551-2E000
545841G000, 54584-1G000
545843X000

54540-FD000

551600J000, 55160-0J000
551601, 55160-1E000

548121G100, 54812-1G100

54812-1G100%, 548121G100
54812-1G100

548121G000, 54812-1G000

54812-1G000*, 548121G000
54812-1G000

54610-1G550

54610-1G500

5035.19, 5035.23
5035.27, 5035.58
5035.63, 54612-1G010
54612-2C000, 91510633

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

52

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

RIO

nJB

KIA

2005 - 2011

HY12021
ENGINE MOUNTING

HY12086
ENGINE MOUNTING

HY12087
ENGINE MOUNTING

HY12088
ENGINE MOUNTING REAR

HY12089
ENGINE MOUNTING LH

:_.____.,. HY12069
P RUBBER BUFFER FRONT
Ki12003

RUBBER BUFFER

KI12016
RUBBER BUFFER FRONT

- HY13004

‘_‘_‘\\ STEERING BELLOW
HY15001

Position : Left And Right
Weight : 0.974 kg /2.147 Ib
Note : MOTOR TAKOZU

Weight : 1,965 kg /4.332 Ib

Weight : 1,745 kg /3.847 Ib

Chassis (Front / Rear) : Rear
Weight : 1,155 kg /2.546 Ib

Position : Left
Weight : 2,085 kg /4.597 Ib

Chassis (Front / Rear) : Front
Weight : 0,430 kg /0.948 Ib

Position : Left And Right
Weight : 0.1 kg /0.220 Ib
Inner Diameter : 15

Note : SUSPANSIYON TAKOZU ARKA

Chassis (Front / Rear) : Front
Weight : 0,075 kg /0.165 Ib

Chassis (Front / Rear) : Rear

SHOCK ABSORBER DUST BELLOW | Weight : 0,060 kg /0.132 Ib

21910-1G000

21810-1G100, 21810-1G150

21810-1E000, 21810-1G000

21930-1G000, 21930-1G050
21930-1G100, 21930-1G150

21830-1G000, 21830-1G050

54626-1C000, 54626-1C500
54626-1M000, 54626-29100

553261, 553261C000
55326-1C000, 55326-1E000

55326-1G000

57740-1G000, 57740-1H000

55370-1C000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

53

info@riw.com.tr



RIW

RIO

STEERING & SUSPENSION
MANUFACTURER

Il uB

KIA

2011 - 2017

N
A
Foar
P

KI1011
BALL JOINT FRONT LOWER

HY2036
TIE ROD END RH

HY2037
TIE ROD END LH

HY3019
AXIAL JOINT

HY3032
AXIAL JOINT

K13029
AXIAL JOINT RH

KI3030
AXIAL JOINT LH

K16020

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16021

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY11026
BUSH FOR WISHBONE SMALL

HY11030

BUSH FOR WISHBONE REAR BIG

Weight : 0,305 kg /0.672 Ib
Ball Joint Body Diameter : @40,1

Weight : 0,6 kg /1.323 Ib
Length : 202 mm /7.95 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,3

Weight : 0,6 kg /1.323 Ib
Length : 202 mm /7.95 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,3

Weight : 0.464 kg /1.023 Ib

Weight : 0,561 kg /1.237 Ib
Length : 216 mm /8.50 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,465 kg /1.025 Ib
Length : 232,5 mm /9.15 inch

Weight : 0,465 kg /1.025 Ib
Length : 232,5 mm /9.15 inch

Weight : 3,2 kg /7.055 Ib
Material Type : Sheet Metal

Weight : 3,2 kg /7.055Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,098 kg /0.216 Ib
Note : .

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,423 kg /0.933 Ib
Note : .

54530-2K000

568200U590, 56820-0U590
56820-1W090

568200H500, 56820-0H500
56820-0U500, 56820-1W000

5772441000

565400U500, 56540-0U500

5772441090

5772441000

54501-1W000

54500-1W000

545511, 54551-1E000
545511J000

545512, 54551-2E000
545841G000, 54584-1G000
545843X000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

54

info@riw.com.tr



RIW

RIO

STEERING & SUSPENSION
MANUFACTURER

Il uB

KIA

2011 - 2017

HY12030
MOUNTING, AXLE BEAM

HY12040
MOUNTING, AXLE BEAM

KlI12004
MOUNTING, AXLE BEAM

HY12027
STABILISER MOUNTING

HY12027K
STABILISER MOUNTING KIT

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

KI12009
STABILISER MOUNTING

KI12009K
STABILISER MOUNTING KIT

Ki12011
STABILISER MOUNTING

KI12011K
STABILISER MOUNTING KIT

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.53 kg / 1.168 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.543 kg /1.197 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.53 kg /1.168 Ib

Chassis (Front / Rear) : Front
Position : Left And Right

Weight : 0.05 kg /0.110 Ib
Material Type : Rubber

Note : VIRAJ DEMIR LASTIGI ON

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.1 kg /0.220 Ib
Material Type : Rubber

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.063 kg /0.139 Ib
Material Type : Rubber

Note : VIRAJ LASTIGI (ON)

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.126 kg /0.278 Ib
Material Type : Rubber

Chassis (Front / Rear) : Front
Weight : 0,091 kg /0.201 Ib

Chassis (Front / Rear) : Front
Weight : 0,182 kg /0.401 Ib
Note : Kit

55160-1R000

551600J000, 55160-0J000
551601, 55160-1E000

55160-1W000

548133X000, 54813-3X000
548133X001, 54813-3X001

54813-3X000%, 54813-3X001*

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

548131W000, 54813-1W000

54813-1W000*

54813-1W100

54813-1W100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

55

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

RIO Il uB 2011 - 2017

Position : Right

f HY12025 ight -
' Ib'_ . Weight : 1.104 kg /2.434 Ib 219501R000, 21950-1R000

ENGINE MOUNTING FRONT RH Material Type : Aluminum 2195021000, 21950-2V000
Inner Diameter : 15

Note : MOTOR TAKOZU (ARKA)

HY12026 Position : Left

Weight : 1.706 kg /3.761 Ib
Note : MOTOR TAKOZU ON SOL

218301R000, 21830-1R000

ENGINE MOUNTING FRONT LH 21830-1W100

HY12042 Position : Left And Right 218101R000, 21810-1R000
ENGINE MOUNTING Weight : 1.84 kg /4.0571b o 218101R010, 218101W000

Note : MOTOR TAKOZU SAG BENZINLI 218102V000
HY13006

STEERING BELLOW 57740-2K010

RIO IVYB 2017 -
| | HY1029
‘ BALL JOINT FRONT LOWER Weight : 0,316 kg /0.697 Ib PART OF 54500H8000, PART OF
- 54501H8000
wt
o | KI2025 Weight : 0,120 kg /0.265 Ib
eight : 0, g /0.
d TIE ROD END RH Length : 454 mm /17.87 inch S8R RUID
K12026

Weight : 0,120 kg / 0.265 Ib 56820-H8000

TIE ROD END LH Length : 454 mm / 17.87 inch
K13024
—r | AXIAL JOINT Weight : 0,503 kg /1.109 Ib 56540-H8000
. HY4056 Weight : 0,389 kg /0.858 Ib
& Material Type : Celik 548300U000, 54830-0U000
Y LINK STABILIZER FRONT Length : 282 mm / 11.10 inch 54830-4L000

Ball Pin Thread Size : M12X1,5

r’ Kloo4s Weight : 3,114 kg /6.865 Ib
eight : 3, g /6.
4501H
CONTROL ARM (WITH BALL JOINT) | Material Type : Sheet Metal 54501H8000
FRONT LOWER RH

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

56 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

RIO

IVYB

201

KIA

7 -

~
P
-
o

W

RIO

=

K16049

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

K16061

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16062

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY11026
BUSH FOR WISHBONE SMALL

HY11034
BUSH FOR WISHBONE REAR BIG

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

HY13002
STEERING BELLOW

HY1040
BALL JOINT FRONT LOWER

Weight : 3,114 kg /6.865 Ib
Material Type : Sheet Metal

Weight : 3,165 kg /6.978 Ib
Material Type : Sheet Metal

Weight : 3,165 kg /6.978 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,098 kg /0.216 Ib
Note : .

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,439 kg /0.968 Ib

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front

Weight : 0,210 kg /0.463 Ib

Note : Kit

IVYB, SC

Weight : 0,303 kg /0.668 Ib

Cone Size [mm] : @15
Ball Pin Thread Size : M12X1,25
Ball Joint Body Diameter : @40,4

54500H8000

54501-H5000

54500-H5000

545511, 54551-1E000
545511J000

545840Q000, 54584-0Q000
545842H000, 54584-2H000

54813-2T000, 54813-3S110

54813-2T000, 54813-35110

56528-H8000, 57740-B4000

2017 -

54500-1R000, 54500-3X000
54500-3Y000, 54500-AA100
54500-H5000, 54500-M0000
54500-Q0000, 54501-1R000
54501-3X000, 54501-3Y000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

57

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

RONDO

KIA

2007 - 2013

—y

~
~
-
-

€

o
f
y
¥

Kl4023
LINK STABILIZER FRONT

Kl4024
LINK STABILIZER REAR

K16036

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

K16037

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

KI9010
CONTROL ARM REAR LOWER RH

KI19011
CONTROL ARM REAR LOWER LH

KI11013

BUSH FOR CONTROL ARM REAR
LOWER

HY12043
MOUNTING, REAR AXLE BUSH

Kl12023
ENGINE MOUNTING REAR

Kl12024
ENGINE MOUNTING FRONT RH

Kl12025
ENGINE MOUNTING FRONT

Weight : 0,38 kg /0.838 Ib
Material Type : Celik
Length : 241 mm /9.49 inch

Ball Pin Thread Size : M12X1,25

Weight : 0,18 kg /0.397 Ib
Material Type : Celik
Length : 180 mm /7.09 inch

Ball Pin Thread Size : M10X1,25

Weight : 4,160 kg /9.171 Ib
Material Type : Sheet Metal

Weight : 4,160 kg /9.171 Ib
Material Type : Sheet Metal

Weight : 2,434 kg /5.366 Ib
Material Type : Sheet Metal

Weight : 2,434 kg /5.366 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,700 kg /1.543 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.326 kg /0.719 Ib

Chassis (Front / Rear) : Rear
Weight : 1,665 kg /3.671 Ib

Chassis (Front / Rear) : Front
Position : Right
Weight : 2,055 kg /4.530 Ib

Chassis (Front / Rear) : Front
Weight : 1,515 kg /3.340 Ib

548302G000, 54830-2G000

555301D000, 55530-1D000
555302G000, 55530-2G000

54501-1D000, 54501-2G001

54501-2G100, 54501-2G101

54501-2G501, 54501-2G600
54501-2G601

54500-1D000, 54500-1D100
54500-1D300, 54500-2G001
54500-2G101, 54500-2G501
54500-2G600, 54500-2G601

55280-1D000

55270-1D000

55543-1H000, 55543-2G000
55543-2H000

52760-2G000, 55130-4D000

21930-2G000, 21930-2G100

21810-2G400

21910-2G000, 21910-2G100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

58

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

RONDO

KIA

2014 -

B

SEDONA

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

FA

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

1993 - 1996

-

SEDONA

AU4001
LINK STABILIZER FRONT

Weight : 0,357 kg /0.787 Ib
Material Type : Celik

Length : 270 mm /10.63 inch
Ball Pin Thread Size : M10X1,5

893407465, 893407465A
8A0407465, 8A0407465B
8A0407465C

1999 - 2001

—
—

A

Kl2007
TIE ROD END RH

Kl2008
TIE ROD END LH

KI3007
AXIAL JOINT

KI3016
AXIAL JOINT

Kl4012
LINK STABILIZER FRONT

K15004

TRACK CONTROL ARM (WITH BALL

JOINT) FRONT LOWER RH

Weight : 0,503 kg /1.109 Ib
Length : 130 mm /5.12 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : 13,9

Weight : 0,507 kg /1.118 Ib
Length : 127,5 mm /5.02 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @13,8

Weight : 0,627 kg /1.382 Ib
Length : 245 mm /9.65 inch
Body Thread Size : M17X1

Ball Pin Thread Size : M14X1,5

Weight : 1,212 kg /2.672 Ib
Length : 308 mm /12.13 inch

Weight : 0,271 kg / 0.597 Ib
Material Type : Celik

Length : 64 mm /2.52 inch

Ball Pin Thread Size : M12X1,25

Material Type : Forged Steel

0K55232280

0K55232240

0K52232270, 0K55232270
0K552-32-270A

0K52232250, 0K55232250A
0K55232250B, OK55232250

0K55234160B, 0K55234160G

0K55234300B, 0K55234300C

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

59

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

SEDONA | 1999 - 2001

= K15005

TRACK CONTROL ARM (WITH BALL Material Type : Forged Steel
JOINT) FRONT LOWER LH

0K55234350B, 0K55234350C

SEDONA Il 2000 - 2005
KI3027 Weight: 0,563 kg /1.241 Ib
eight : 0, g /1.
AXIAL JOINT Length : 245 mm / 9.65 inch K852322508
- KI5004

TRACK CONTROL ARM (WITH BALL Material Type : Forged Steel 0K55234300B, 0K55234300C

JOINT) FRONT LOWER RH

ay
. K15005
TRACK CONTROL ARM (WITH BALL Material Type : Forged Steel 0K55234350B, 0K55234350C
JOINT) FRONT LOWER LH
v
SEDONA 1} 2006 - 2014
KI1013 Part of 545004D001, Part of
: . art o , Part o
BALL JOINT FRONT LOWER Weight : 0.97 kg /2.138 Ib 545004D002
Part of 545014D001, Part of
545014D002
o | Ki2021 568204D100, 56820-4D100
) TIE ROD END RH Weight : 0,774 kg /1.706 Ib 568204D101, 56820-4D101
z KI2022 568204D000, 56820-4D000
Weight : 0,774 kg / 1.706 | ’ i
L——- TIE ROD END LH eight : 0,774 kg /1.706 Ib 568204D001, 56820-4D001
v oo 100
eng . mm . INCl
« — 77244D000, 57724-4D
AXIAL JOINT Body Thread Size : M16X1,5 > 000, 5 000

Ball Pin Thread Size : M16X1,5

K14025 Weight : 0,494 kg /1.089 Ib

] Material Type : Celik
| S LINK STABILIZER FRONT RH Length : 322 mm / 12.68 inch 48404 0000:150840.:4D00C

Ball Pin Thread Size : M12X1,25

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

60 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SEDONA

KIA

11| 2006 - 2014

K14026
LINK STABILIZER FRONT LH

Kl4035
LINK STABILIZER REAR

Kl16034

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16034J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

K16035

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

K16035J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

K19008

CONTROL ARM (WITH BALL JOINT)
REAR RH

K19009

CONTROL ARM (WITH BALL JOINT)
REAR LH

KI11006

BUSHING FOR CONTROL ARM
REAR

HY12043
MOUNTING, REAR AXLE BUSH

KI12028
ENGINE MOUNTING FRONT

Weight : 0,494 kg / 1.089 Ib
Material Type : Celik

Length : 322 mm /12.68 inch
Ball Pin Thread Size : M12X1,25

548304D000, 54830-4D000

Weight : 0,246 kg / 0.542 Ib
Material Type : Celik

Length : 72 mm /2.83 inch

Ball Pin Thread Size : M10X1,25

555304D000, 55530-4D000

Weight : 5,082 kg /11.204 Ib

4501-4D001
Material Type : Sheet Metal 5450 00

Weight : 4,698 kg /10.357 Ib

4501-4D002
Material Type : Sheet Metal 5450 00

Weight : 5,082 kg /11.204 Ib

54500-4D001
Material Type : Sheet Metal

Weight : 4,698 kg /10.357 Ib

54500-4D002
Material Type : Sheet Metal

Weight : 2,120 kg /4.674 Ib

55240-4D000
Material Type : Forged Steel

Weight : 2,120 kg /4.674 Ib

55230-4D001
Material Type : Forged Steel

Chassis (Front / Rear) : Rear

230-4D 230-4D001
Weight : 0,215 kg /0.474 Ib 55230-4D000, 55230-4D00

Chassis (Front / Rear) : Rear
Position : Left And Right 52760-2G000, 55130-4D000
Weight : 0.326 kg /0.719 Ib

Chassis (Front / Rear) : Front

21910-4D
Weight : 1,245 kg /2.745 |b 910-4D300

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

61 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SEDONA

v

KIA

2015 -

KI1021
BALL JOINT FRONT LOWER

Kl2041
TIE ROD END RH

Kl2042
TIE ROD END LH

Ki3034
AXIAL JOINT

Kl4043
LINK STABILIZER REAR

K16069

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16069J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

K16070

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Kl16070J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

KI19012
CONTROL ARM REAR UPPER RH

KI9013
CONTROL ARM REAR UPPER LH

Weight : 1,155 kg /2.546 Ib

Weight : 0,945 kg /2.083 Ib
Length : 272 mm /10.71 inch

Weight : 0,945 kg /2.083 Ib
Length : 272 mm /10.71 inch

Weight : 0,610 kg /1.345 Ib
Length : 218 mm / 8.58 inch

Weight : 0,380 kg /0.838 Ib
Material Type : Celik
Length : 104 mm /4.09 inch

Weight : 5,620 kg /12.390 Ib
Material Type : Sheet Metal

Weight : 4,455 kg /9.822 Ib
Material Type : Sheet Metal

Weight : 5,620 kg /12.390 Ib
Material Type : Sheet Metal

Weight : 4,455 kg /9.822 Ib
Material Type : Sheet Metal

Weight : 1,950 kg /4.299 Ib
Material Type : Forged Steel

Weight : 1,950 kg /4.299 Ib
Material Type : Forged Steel

54500-A9100%, 54500-A9200*
54501-A9100%, 54501-A9200*
54530-A9000

56821-A9000

56820-A9000

57724-A9000

55530-A9000, 55540-A9000

54501-A9100, 54501-A9200

54501-A9100*, 54501-A9200*

54500-A9100, 54500-A9200

54500-A9100%, 54500-A9200*

55101-A9000

55100-A9000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

62

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SEDONA

v

KIA

2015 -

(o

SELTOS

HY12043
MOUNTING, REAR AXLE BUSH

Kl12012
STABILISER MOUNTING

KI12012K
STABILISER MOUNTING KIT

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.326 kg /0.719 Ib

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

52760-2G000, 55130-4D000

54813-B8000, 54813-C5000
54813-S3000

54813-B8000, 54813-C5000
54813-S3000

2021 -

Kl2035
TIE ROD END RH

_‘
A
7 e
o,

=

SEPHIA

Kl2036
TIE ROD END LH

HY9024
CONTROL ARM REAR UPPER RH

HY9025
CONTROL ARM REAR UPPER LH

HY11063

BUSH FOR CONTROL ARM REAR
UPPER

Weight : 0,520 kg /1.146 Ib
Length : 150 mm /5.91 inch

Weight : 0,520 kg /1.146 Ib
Length : 150 mm /5.91 inch

Weight : 1,145 kg /2.524 Ib
Material Type : Sheet Metal

Weight : 1,145 kg /2.524 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,165 kg / 0.364 Ib

FA

56825-Q5000

56820-Q5000

55121-J9500

55120-J9500

55110-C3000*, 55120-C3000*
55120-J9500%, 55121-J9500*

1993 - 1996

<

KI1001
BALL JOINT FRONT LOWER

Weight : 0,66 kg / 1.455 Ib

Connection Hole Diameter : @12,5

0K20134550C, 0K20134550Y

OK20134550C, OK20134550Y

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

63

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SEPHIA

FA

KIA

1993 - 1996

<

SEPHIA

Kl2001
TIE ROD END

Ki3001
AXIAL JOINT

AU4001A
LINK STABILIZER FRONT

MZ12011
ENGINE MOUNTING FRONT

Weight : 0,422 kg /0.930 Ib
Length : 107 mm /4.21 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : 12,6

Weight : 0,571 kg /1.259 Ib
Length : 283 mm /11.14 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,295 kg / 0.650 Ib
Material Type : Plastic
Length : 317 mm /12.48 inch

Chassis (Front / Rear) : Front
Weight : 0,640 kg /1.411 b

FB

0K20132280, 0K9A232280
H00199324, OK20132280A
OK9A232280

0K20132240, 0K20132240A
0K20332240, 0K20332240A
0K92A32240

893407465, 893407465A
8A0407465, 8A0407465B
8A0407465C

0K20439050B, B455-39-050
B455-39-050B, B52939050A
F1CZ6038A, FACZ6038A
F5CZ6038CA, F7TCZ6038EA
K2A239050

1997 - 2004

$0=0

|
P

<

KI1004
BALL JOINT FRONT LOWER

KI1017
BALL JOINT FRONT LOWER

KI1017K
BALL JOINT FRONT LOWER

Kl2004
TIE ROD END

K13004
AXIAL JOINT

K14006
LINK STABILIZER FRONT

Weight : 0,65 kg /1.433 b
Connection Hole Diameter : @12,5

Weight : 0,520 kg /1.146 Ib

Weight : 0,520 kg /1.146 Ib

Weight : 0,445 kg /0.981 Ib
Length : 107 mm /4.21 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @13

Weight : 0,518 kg /1.142 Ib
Length : 293 mm / 11.54 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,223 kg /0.492 Ib
Material Type : Celik

Length : 85 mm /3.35inch
Ball Pin Thread Size : M10X1,5

0K21A134550A, 0K2A134550
0K2A134550A, 0G03034550B

O0K2FA34550

O0K2FA34550

09A232280, 0K20132280
0K20132280A, 0K92A32280
O0K9A232280

0K2A232240

0K2A534150, 0K2A534150A
0K2A534150B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

64

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SEPHIA

FB

KIA

1997 - 2004

4 o

SHUMA

Kl4018
LINK STABILIZER REAR

KI11011

BUSH FOR LINK STABILIZER REAR

Weight : 0,216 kg / 0.476 Ib
Material Type : Celik

Chassis (Front / Rear) : Rear
Weight : 0.082 kg /0.181 Ib
Length : KI4018 mm /0.00 inch

0K2A128150A, 0K2A128150B
0K2A134150A, 0K2A134150B
0K2M228150

0K2A128150B*, 0K2A134150A*
0K2A134150B*, 0K2M228150*

1996 - 2001

$0ms

1

—=
b
¢ o
r

KI11004
BALL JOINT FRONT LOWER

Kl2001
TIE ROD END

KI3004
AXIAL JOINT

Kl4006
LINK STABILIZER FRONT

K14007
LINK STABILIZER FRONT RH

Kl14008
LINK STABILIZER FRONT LH

Kl14018
LINK STABILIZER REAR

K16014

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

Weight : 0,65 kg /1.433 Ib
Connection Hole Diameter : @12,5

Weight : 0,422 kg /0.930 Ib
Length : 107 mm /4.21 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : 12,6

Weight : 0,518 kg / 1.142 Ib
Length : 293 mm / 11.54 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,223 kg /0.492 Ib
Material Type : Celik

Length : 85 mm /3.35inch
Ball Pin Thread Size : M10X1,5

Weight : 0,302 kg / 0.666 Ib
Material Type : Celik

Length : 274 mm /10.79 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,302 kg / 0.666 Ib
Material Type : Celik

Length : 274 mm /10.79 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,216 kg / 0.476 Ib
Material Type : Celik

Weight : 4.924 kg /10.856 Ib
Material Type : Sheet Metal

0K21A134550A, 0K2A134550
0K2A134550A, OG03034550B

0K20132280, 0K9A232280
H00199324, OK20132280A
OK9A232280

0K2A232240

0K2A534150, 0K2A534150A
0K2A534150B

O0K2N134150A

, 0K2N134170A

0K2A128150A, 0K2A128150B
0K2A134150A, 0K2A134150B
0K2M228150

0K2NA34300B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

65

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SHUMA

KIA

1996 - 2001

SHUMA

K16015

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

KI11011

BUSH FOR LINK STABILIZER REAR

Weight : 4.924 kg /10.856 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Weight : 0.082 kg /0.181 Ib
Length : KI4018 mm /0.00 inch

O0K2NA34350B

0K2A128150B*, 0K2A134150A*
0K2A134150B*, 0K2M228150*

2001 - 2004

$0ms

1

—=
b
¢ o
r

KI11004
BALL JOINT FRONT LOWER

Kl2001
TIE ROD END

KI3004
AXIAL JOINT

Kl4006
LINK STABILIZER FRONT

K14007
LINK STABILIZER FRONT RH

Kl14008
LINK STABILIZER FRONT LH

Kl14018
LINK STABILIZER REAR

K16014

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

Weight : 0,65 kg /1.433 Ib
Connection Hole Diameter : @12,5

Weight : 0,422 kg /0.930 Ib
Length : 107 mm /4.21 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : 12,6

Weight : 0,518 kg / 1.142 Ib
Length : 293 mm / 11.54 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,223 kg /0.492 Ib
Material Type : Celik

Length : 85 mm /3.35inch
Ball Pin Thread Size : M10X1,5

Weight : 0,302 kg / 0.666 Ib
Material Type : Celik

Length : 274 mm /10.79 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,302 kg / 0.666 Ib
Material Type : Celik

Length : 274 mm /10.79 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,216 kg / 0.476 Ib
Material Type : Celik

Weight : 4.924 kg /10.856 Ib
Material Type : Sheet Metal

0K21A134550A, 0K2A134550
0K2A134550A, OG03034550B

0K20132280, 0K9A232280
H00199324, OK20132280A
OK9A232280

0K2A232240

0K2A534150, 0K2A534150A
0K2A534150B

O0K2N134150A

, 0K2N134170A

0K2A128150A, 0K2A128150B
0K2A134150A, 0K2A134150B
0K2M228150

0K2NA34300B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

66

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SHUMA

KIA

2001 - 2004

-

SORENTO

K16015

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

KI11011

BUSH FOR LINK STABILIZER REAR

Kl12027
ENGINE MOUNTING REAR

Weight : 4.924 kg /10.856 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Weight : 0.082 kg /0.181 Ib
Length : KI4018 mm /0.00 inch

Chassis (Front / Rear) : Rear
Weight : 1,705 kg /3.759 Ib

1JC, BL

O0K2NA34350B

0K2A128150B*, 0K2A134150A*
0K2A134150B*, 0K2M228150*

0K2N339070, K2N339070
OK2N339070

2002 - 2009

<
$

st

S

<

<

KI1002
BALL JOINT FRONT LOWER

KI1003
BALL JOINT FRONT LOWER

Kl2002
TIE ROD END RH

KI2003
TIE ROD END LH

Kl13002
AXIAL JOINT RH

Ki3003
AXIAL JOINT LH

K14001
LINK STABILIZER FRONT RH

Weight : 1,935 kg /4.266 Ib

Cone Size [mm] : @21,6
Connection Hole Diameter : @12,5
Ball Pin Thread Size : M20X1,5

Weight : 2,345 kg /5.170 Ib

Cone Size [mm] : @21,6
Connection Hole Diameter : 14,5
Ball Pin Thread Size : M20X1,5

Weight : 0,719 kg /1.585 Ib
Length : 156 mm /6.14 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @14

Weight : 0,647 kg /1.426 Ib
Length : 156 mm /6.14 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @14

Weight : 0,472 kg /1.041 Ib
Length : 171 mm /6.73 inch
Body Thread Size : M18X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,479 kg / 1.056 Ib
Length : 171 mm /6.73 inch
Body Thread Size : M18X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,268 kg /0.591 Ib
Material Type : Celik

Length : 85 mm /3.35inch

Ball Pin Thread Size : M12X1,25

, 545703
54570-3E000, 54570-3E001

568203E900, 56820-3E900

568203, 56820-3E000

5773130000000000, 57731-3E010

5773230000000000, 57732-3E010

5, 48113E+65
54811-3E060

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

67

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SORENTO

1JC, BL

KIA

2002 - 2009

~oppbb Tl

K14002
LINK STABILIZER FRONT LH

K14003
LINK STABILIZER REAR RH

Kl4004
LINK STABILIZER REAR LH

K14005
LINK STABILIZER FRONT

K14039
LINK STABILIZER REAR

K16001

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16001J

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

K16002

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

K16002J

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

K16044

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER RH

K16045

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER LH

Weight : 0,268 kg / 0.591 Ib
Material Type : Celik

Length : 85 mm /3.35 inch

Ball Pin Thread Size : M12X1,25

Weight : 0,323 kg /0.712 Ib
Material Type : Celik

Length : 120 mm /4.72 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,285 kg / 0.628 Ib
Material Type : Celik

Length : 120 mm /4.72 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,264 kg /0.582 Ib
Material Type : Celik

Length : 149 mm /5.87 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,260 kg / 0.573 Ib
Material Type : Bolt Type
Length : 191 mm /7.52 inch

Weight : 8,04 kg /17.725 Ib
Material Type : Sheet Metal

Weight : 6,274 kg /13.832 Ib
Material Type : Sheet Metal

Weight : 8,04 kg /17.725 Ib
Material Type : Sheet Metal

Weight : 6,303 kg / 13.896 Ib
Material Type : Sheet Metal

Weight : 2,567 kg /5.659 Ib
Material Type : Forged Steel

Weight : 2,567 kg /5.659 Ib
Material Type : Forged Steel

54811-3E010, 54811-3E110

5, 55803E+55
55580-3E000, 55580-3E050

555803, 55580-3E000
55580-3E050

548103, 54810-3E000

5471943000, 5471943001

5452030, 54520-3E000
54520-3E001

54520-3E000*

54510-3E000, 54510-3E001
54510E3001

545103, 54510-3E000*

54420-3E002

54410-3E001, 54410-3E002

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

68

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SORENTO

1JC, BL

KIA

2002 - 2009

>
<
N;

»

o
2

e

K16046

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

K16047

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

HY11006
BUSH FOR CONTROL ARM REAR

HY11009
BUSH FOR CONTROL ARM REAR

KI11005
BUSH FOR WISHBONE

Kl11014

BUSH FOR CONTROL ARM FRONT
UPPER

KI11015

BUSH FOR CONTROL ARM FRONT
UPPER

KI111016

BUSH FOR CONTROL ARM FRONT
LOWER

HY12068

MOUNTING, REAR AXLE BUSH
LOWER

Ki12001
MOUNTING

KI12006
STABILISER MOUNTING FRONT

Weight : 2,604 kg /5.741 Ib
Material Type : Forged Steel

Weight : 2,604 kg /5.741 Ib
Material Type : Forged Steel

Chassis (Front / Rear) : Rear
Weight : 0,300 kg /0.661 Ib

Chassis (Front / Rear) : Rear
Weight : 0,205 kg /0.452 Ib

Position : Left And Right
Weight : 0,644 kg /1.420 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0,165 kg / 0.364 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0,140 kg /0.309 Ib

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,525 kg / 1.157 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,132 kg /0.291 Ib

Position : Left And Right
Weight : 0.16 kg /0.353 Ib

Chassis (Front / Rear) : Front
Weight : 0,063 kg /0.139 Ib

54420-3E100

54410-3E100

55218-2B000

55100-2B100, 55118-2B100

54580-3E000

54480-3E100, 54480-3E105

54410-3E002, 54420-3E002

54580-3E200

52710-2B000, 52710-3K050
52720-2B000, 52720-3K050
55100-2B000, 55100-3J100
55101-3J100, 55118-2B000

545903, 54590-3E000

54813-3E000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

69

info@riw.c

om.tr



le STEERING & SUSPENSION
MANUFACTURER

SORENTO

1JC, BL

KIA

2002 - 2009

SORENTO

KI12006K

STABILISER MOUNTING FRONT
KIT

KI12010
STABILISER MOUNTING

KI12014
RUBBER BUFFER FRONT

F114012
AXLE BELLOW SET OUT

__-_{'1..;

__-_{l_rr.

—

HY1009
BALL JOINT FRONT LOWER

HY2017
TIE ROD END RH

HY2018
TIE ROD END LH

Ki3014
AXIAL JOINT

KI3015
AXIAL JOINT

HY4029
LINK STABILIZER FRONT RH

Chassis (Front / Rear) : Front
Weight : 0,126 kg /0.278 Ib
Note : Kit

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.055 kg /0.121 Ib

Chassis (Front / Rear) : Front
Weight : 0,080 kg /0.176 Ib

Weight : 0.177 kg /0.390 Ib

I XM

Weight : 0,385 kg /0.849 Ib
Ball Joint Body Diameter : @42,8

Weight : 0,947 kg /2.088 Ib
Length : 228 mm /8.98 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @14,1

Weight : 0,947 kg /2.088 Ib
Length : 228 mm /8.98 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @14,1

Weight : 0,527 kg /1.162 Ib
Length : 187 mm /7.36 inch
Body Thread Size : M18X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,523 kg /1.153 Ib
Length : 187 mm /7.36 inch
Body Thread Size : M18X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,455 kg /1.003 Ib
Material Type : Celik

Length : 341 mm /13.43 inch
Ball Pin Thread Size : M12X1,5

54813-3E000

54830-3E000, 54830-3E020

54602-3E100

46308465

2009 - 2014

545033BA00, 54503-3BA00
54530-2B000, 545303B000
54530-3B000

56820-2B900, 568202P000
56820-2P900, 568212B900

568202B000, 56820-2B000
56820-2P000, 568202P900

57724-2P100

57724-2P000

54840-2B000, 54840-2B200

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

70

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SORENTO

I XM

KIA

2009 - 2014

@) rsflrx]]

HY4030
LINK STABILIZER FRONT LH

HY4031
LINK STABILIZER REAR

HY9006

CONTROL ARM (WITH BALL JOINT)
REAR UPPER RH

HY9007

CONTROL ARM (WITH BALL JOINT)
REAR UPPER LH

HY9008
CONTROL ARM REAR LOWER RH

HY9009
CONTROL ARM REAR LOWER LH

K16016

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16017

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

KI9007
CONTROL ARM REAR UPPER

HY11006
BUSH FOR CONTROL ARM REAR

HY11009
BUSH FOR CONTROL ARM REAR

Weight : 0,455 kg / 1.003 Ib
Material Type : Celik

Length : 341 mm /13.43 inch
Ball Pin Thread Size : M12X1,5

Weight : 0,305 kg /0.672 Ib
Material Type : Celik

Length : 99,5 mm /3.92 inch
Ball Pin Thread Size : M12X1,5

Weight : 4,884 kg /10.767 Ib
Material Type : Forged Steel

Weight : 4,884 kg /10.767 Ib
Material Type : Forged Steel

Weight : 1,113 kg /2.454 Ib
Material Type : Forged Steel

Weight : 1,113 kg /2.454 Ib
Material Type : Forged Steel

Weight : 4,538 kg /10.005 Ib
Material Type : Sheet Metal

Weight : 4,538 kg / 10.005 Ib
Material Type : Sheet Metal

Weight : 1,205 kg /2.657 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Weight : 0,300 kg /0.661 Ib

Chassis (Front / Rear) : Rear
Weight : 0,205 kg /0.452 Ib

54830-2B000, 54830-2B200

55530-2B000

55240-0W000, 55240-1U000
55240-2J101, 55240-2P000
55240-3J000, 55240-3J100

55230-0W000, 55230-1U000
556230-2J101, 55230-2P000
55230-3J000, 55230-3J100

55250-2P010

55250-3J010

54501-2P000

54500-2P000

5510025100, 551002W100
551002W150

55218-2B000

55100-2B100, 55118-2B100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

71

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

SORENTO I XM 2009 - 2014

HY11053 Chassis (Front / Rear) : Front
BUSH FOR WISHBONE Position : Left And Right 545512B000, 54551-2B000
Weight : 0.34 kg /0.750 Ib

HY11055 Chassis (Front / Rear) : Front

BUSH FOR WISHBONE Position : Left And Right
Weight : 0.38 kg /0.838 Ib

54584-2B000, 545843J000
54584-3J000

HY12043 Chassis (Front / Rear) : Rear
MOUNTING, REAR AXLE BUSH Position : Left And Right 52760-2G000, 55130-4D000
Weight : 0.326 kg /0.719 Ib

52710-2B000, 52710-3K050
HY12068 i : 0
Cha.s.s 's (Front / Rear) : Rear 52720-2B000, 52720-3K050
Position : Lower

MOUNTING, REAR AXLE BUSH _ 55100-2B000, 55100-3J100
LOWER e Oz Lg) Szl 1o 55101-3J100, 55118-28000

Chassis (Front / Rear) : Front

HY12022 Position : Left And Right

STABILISER MOUNTING Weight : 0.078 kg /0.172 Ib 548133K100, 54813-3K100
Material Type : Rubber
Note : VIRAJ LASTIGI

HY12022K ghai?is (FLrOfrt\t/( F;e:'r)r;tﬁom
oslItion : L€ n [o] .
STABILISER MOUNTING KIT Weight : 0.156 kg /0.344 Ib 54813-3K100

Material Type : Rubber

HY1ziz Chassis (Front / Rear) : Front
assis (Fron ear) : rron
ENGINE MOUNTING FRONT Weight - 1,480 kg / 3.263 Ib 21910-28200, 21912-2B100
HY12122 SRy SR
assis (Fron ear) : rear
ENGINE MOUNTING REAR Weight : 2,120 kg / 4.674 Ib 21930-2P500
HY12123 osiion - Lot
osition : Le
21830-2P400, 21830-2P
ENGINE MOUNTING LH Weight : 2,875 kg /6.338 Ib 830-2P400, 21830-2P500
HY12124
Position : Right 21810-2P000, 21810-2P100
ENGINE MOUNTING RH Weight : 2,415 kg /5.324 Ib 21811-2B000
HY12127
Weight : 1,695 kg /3.737 Ib 21950-35000

ENGINE MOUNTING

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

72 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SORENTO

il um

KIA

2015 - 2020

KI1012
BALL JOINT FRONT LOWER

Kl2019
TIE ROD END RH

Kl12020
TIE ROD END LH

HY3052
AXIAL JOINT

K13020
AXIAL JOINT

K14031
LINK STABILIZER FRONT

Kl4032
LINK STABILIZER REAR

HY9019
CONTROL ARM REAR UPPER

K16038

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16039

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY11075

BUSH FOR CONTROL ARM REAR
UPPER

Weight : 0,505 kg /1.113 Ib

Weight : 0,634 kg /1.398 Ib

Weight : 0,634 kg /1.398 Ib
Length : 506 mm /19.92 inch

Weight : 0,575 kg /1.268 Ib
Length : 216 mm /8.50 inch

Weight : 0,683 kg / 1.506 Ib
Length : 242,5 mm /9.55 inch

Weight : 0,53 kg /1.168 Ib
Material Type : Celik

Length : 350 mm /13.78 inch
Ball Pin Thread Size : M12X1,25
Note : M12X1,25

Weight : 0,39 kg /0.860 Ib
Material Type : Celik

Length : 116 mm /4.57 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,877 kg /1.933 Ib
Material Type : Steel Tube

Weight : 6,100 kg / 13.448 Ib
Material Type : Sheet Metal

Weight : 6,100 kg / 13.448 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,164 kg / 0.362 Ib

54530C5100, 54530-C5100

56820C1090, 56820-C1090

56820C1000, 56820-C1000

57724-42000

57724C5000, 57724-C5000

54830C5000, 54830-C5000

55530C5000, 55530-C5000
55540C5000

5525025100, 5525025110

54501-C5150, 54501-C6000

54500-C5150, 54500-C6000

5525025100%, 5525025110*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

73

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SORENTO

Il UM

KIA

2015 - 2020

o
e

(o

SORENTO

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

Kl12012
STABILISER MOUNTING

KI12012K
STABILISER MOUNTING KIT

Ki12007
STRUT MOUNTING FRONT

(PSR R -

KI1020
BALL JOINT FRONT LOWER

Kl2039
TIE ROD END RH

Kl2040
TIE ROD END LH

Kl4032
LINK STABILIZER REAR

K16067

CONTROL ARM (WITH BALL JOINT)

FRONT LOWER RH

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

Chassis (Front / Rear) : Front
Weight : 1,100 kg /2.425Ib

IV MQ4

Weight : 0,952 kg /2.099 Ib

Weight : 0,734 kg /1.618 Ib
Length : 213 mm /8.39 inch

Weight : 0,734 kg /1.618 Ib
Length : 213 mm /8.39 inch

Weight : 0,39 kg /0.860 Ib
Material Type : Celik

Length : 116 mm /4.57 inch
Ball Pin Thread Size : M12X1,25

Weight : 5,525 kg /12.181 Ib
Material Type : Sheet Metal

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

54813-B8000, 54813-C5000
54813-S3000

54813-B8000, 54813-C5000
54813-S3000

54610-C5000

2020 -

54500-P2000*, 54501-P2000*

56825-P2000

56820-P2000

55530C5000, 55530-C5000
55540C5000

54501-P2000, 54501-P2050

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

74

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SORENTO

IV MQ4

KIA

2020 -

oy

SOUL

K16067J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

K16068

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Kl16068J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

Ki111021

BUSH INNER FOR CONTROL ARM
FRONT LOWER

KI111022

BUSH OUTER FOR CONTROL ARM
FRONT LOWER

Weight : 4,565 kg / 10.064 Ib
Material Type : Sheet Metal

Weight : 5,525 kg /12.181 Ib
Material Type : Sheet Metal

Weight : 4,565 kg / 10.064 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,596 kg /1.314 Ib

Chassis (Front / Rear) : Front
Position : Lower Outer
Weight : 0,422 kg /0.930 Ib

AM

54501-P2000*, 54501-P2050*

54500-P2000, 54500-P2050

54500-P2000*, 54500-P2050*

54501-N9000*

54501-N9000*

2009 - 2014

KI1011
BALL JOINT FRONT LOWER

HY2031
TIE ROD END RH

HY2032
TIE ROD END LH

HY3033
AXIAL JOINT

K14033
LINK STABILIZER FRONT RH

Weight : 0,305 kg /0.672 Ib

Ball Joint Body Diameter : @40,1

Weight : 0,52 kg /1.146 Ib
Length : 189 mm / 7.44 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,52 kg /1.146 Ib
Length : 189 mm / 7.44 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,54 kg /1.190 Ib
Length : 249 mm /9.80 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,334 kg /0.736 Ib
Material Type : Celik

Length : 216 mm / 8.50 inch
Ball Pin Thread Size : M12X1,5

54530-2K000

568202K050, 56820-2K050

568202K000, 56820-2K000

56540-2K000, 56540-3J000

548402K000, 54840-2K000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

75

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

SOUL AM 2009 - 2014

Y VARRA

(%]
o)
c
-

Image

L -

Kl4034
LINK STABILIZER FRONT LH

K16022

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16023

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

K16032

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

Kli6033

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY11026
BUSH FOR WISHBONE SMALL

HY11034

BUSH FOR WISHBONE REAR BIG

HY13006
STEERING BELLOW

KI1015
BALL JOINT FRONT LOWER

HY2031
TIE ROD END RH

Weight : 0,334 kg /0.736 Ib
Material Type : Celik

Length : 216 mm /8.50 inch
Ball Pin Thread Size : M12X1,5

Weight : 4 kg /8.818 Ib
Material Type : Sheet Metal

Weight : 4 kg /8.818 Ib
Material Type : Sheet Metal

Weight : 3,742 kg /8.250 Ib
Material Type : Sheet Metal

Weight : 3,742 kg /8.250 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,098 kg /0.216 Ib
Note : .

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,439 kg /0.968 Ib

PS

Weight : 0,740 kg /1.631 Ib

Weight : 0,52 kg /1.146 Ib
Length : 189 mm / 7.44 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

548302K000, 54830-2K000

545012K200, 54501-2K200

545002K200, 54500-2K200

545012K300, 54501-2K300
545012K600, 54501-2K600

545002K300, 54500-2K300
545002K600, 54500-2K600

545511, 54551-1E000
545511J000

545840Q000, 54584-0Q000
545842H000, 54584-2H000

57740-2K010

2014 - 2019

5450082000, 54501B2000*

568202K050, 56820-2K050

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

76

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SOUL

PS

KIA

2014 - 2019

Weight : 0,52 kg / 1.146 Ib
Length : 189 mm /7.44 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : 13,5

—
—
—
—>

—
-
b

9o

L

HY2032
TIE ROD END LH

HY3033
AXIAL JOINT

Kl13022
AXIAL JOINT

K14033
LINK STABILIZER FRONT RH

Kl4034
LINK STABILIZER FRONT LH

K16050

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16051

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY11026
BUSH FOR WISHBONE SMALL

HY11034
BUSH FOR WISHBONE REAR BIG

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

Weight : 0,54 kg /1.190 Ib
Length : 249 mm /9.80 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,491 kg /1.082 Ib
Length : 218,7 mm /8.61 inch

Weight : 0,334 kg /0.736 Ib
Material Type : Celik

Length : 216 mm /8.50 inch
Ball Pin Thread Size : M12X1,5

Weight : 0,334 kg /0.736 Ib
Material Type : Celik

Length : 216 mm /8.50 inch
Ball Pin Thread Size : M12X1,5

Weight : 4,188 kg /9.233 Ib
Material Type : Sheet Metal

Weight : 4,188 kg /9.233 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,098 kg /0.216 Ib
Note : .

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,439 kg /0.968 Ib

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

568202K000, 56820-2K000

56540-2K000, 56540-3J000

56540-B2000

548402K000, 54840-2K000

548302K000, 54830-2K000

5450182000

5450082000

545511, 54551-1E000
545511J000

545840Q000, 54584-0Q000
545842H000, 54584-2H000

54813-2T000, 54813-35110

54813-2T000, 54813-35110

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

7

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SOUL

SK3

KIA

2019 -

@ =

[

SPECTRA

KI1011
BALL JOINT FRONT LOWER

Kl2035
TIE ROD END RH

Kl2036
TIE ROD END LH

Ki3033
AXIAL JOINT

HY4095
LINK STABILIZER FRONT

Weight : 0,305 kg /0.672 Ib
Ball Joint Body Diameter : @40,1

Weight : 0,520 kg / 1.146 Ib
Length : 150 mm /5.91 inch

Weight : 0,520 kg /1.146 Ib
Length : 150 mm /5.91 inch

Weight : 0,690 kg /1.521 Ib
Length : 322 mm /12.68 inch

Weight : 0,425 kg /0.937 Ib
Material Type : Celik

Length : 295 mm /11.61 inch
Ball Pin Thread Size : M12X1,25

FB

54530-2K000

56825-Q5000

56820-Q5000

56540-K0000

54830-J9000

2001 - 2004

!
i
=y
o

KI1017
BALL JOINT FRONT LOWER

KI1017K
BALL JOINT FRONT LOWER

Kl2004
TIE ROD END

K14007
LINK STABILIZER FRONT RH

K14008
LINK STABILIZER FRONT LH

Weight : 0,520 kg /1.146 Ib

Weight : 0,520 kg /1.146 Ib

Weight : 0,445 kg /0.981 Ib
Length : 107 mm /4.21 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @13

Weight : 0,302 kg / 0.666 Ib
Material Type : Celik

Length : 274 mm /10.79 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,302 kg / 0.666 Ib
Material Type : Celik

Length : 274 mm /10.79 inch
Ball Pin Thread Size : M10X1,5

O0K2FA34550

O0K2FA34550

09A232280, 0K20132280
0K20132280A, 0K92A32280
O0K9A232280

0K2N134150A

, 0K2N134170A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

78

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPECTRA

FB

KIA

2001 - 2004

SPECTRA

Kl16014

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

K16015

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

Weight : 4.924 kg /10.856 Ib
Material Type : Sheet Metal

Weight : 4.924 kg /10.856 Ib
Material Type : Sheet Metal

LD

O0K2NA34300B

O0K2NA34350B

2004 - 2009

=

&

AN [ 1]

Product Code and Description

HY1002
BALL JOINT FRONT LOWER

HY2004
TIE ROD END

Ki3011
AXIAL JOINT

HY4007
LINK STABILIZER REAR

Kl4013
LINK STABILIZER FRONT RH

Kl4014
LINK STABILIZER FRONT LH

K16009

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16010

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

—

Weight : 0,33 kg /0.728 Ib
Cone Size [mm] : @15

Ball Pin Thread Size : M12X1,5
Ball Joint Body Diameter : @40,4

Weight : 0,294 kg / 0.648 Ib
Length : 76,5 mm /3.01 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,5

Weight : 0,644 kg /1.420 Ib
Length : 325 mm /12.80 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,253 kg / 0.558 Ib
Material Type : Celik

Length : 130 mm /5.12 inch
Ball Pin Thread Size : M10X1,25

Weight : 0,372 kg /0.820 Ib
Material Type : Celik

Length : 250 mm /9.84 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,358 kg /0.789 Ib
Material Type : Celik

Length : 250 mm /9.84 inch
Ball Pin Thread Size : M10X1,5

Weight : 3,693 kg /8.142 Ib
Material Type : Sheet Metal

Weight : 3,693 kg /8.142 Ib
Material Type : Sheet Metal

54500-17000, 54500-1C000
54500-1C010, 54500-1J500
54501-17000, 54501-1C000
54501-1C010, 54501-1J500
54501-22000, 54501-22100

5682025000, 56820-25000

577242D000, 57724-2D000

5553017000, 55530-17000
5553029000, 55530-29000
5553029300, 55530-29300
5553029500, 55530-29500

548402F000, 54840-2F000

548302F000, 54830-2F000

545012F001, 54501-2F001

545002F001, 54500-2F001

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

79

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPECTRA

LD

KIA

2004 - 2009

e
~
-

@
-
°
P

.
e
s d

@

K19001

TRACK CONTROL ARM REAR
LOWER FORWARD

K19002

TRACK CONTROL ARM REAR
LOWER REARWARD

HY11015
BUSH FOR CONTROL ARM REAR

LOWER FORWARD AND
REARWARD

HY11031
BUSH FOR WISHBONE LOWER

HY11032
BUSH FOR WISHBONE LOWER

HY11045
BUSH FOR CONTROL ARM REAR

KI12005
STABILISER MOUNTING FRONT

KI12005K

STABILISER MOUNTING FRONT
KIT

Kl12017
ENGINE MOUNTING FRONT

KI12018
ENGINE MOUNTING LH

KI12019
ENGINE MOUNTING REAR

Weight : 0,978 kg /2.156 Ib
Material Type : Metal

Weight : 0,91 kg /2.006 Ib
Material Type : Metal

Chassis (Front / Rear) : Rear
Position : Lower Forward And Rearward
Weight : 0,086 kg /0.190 Ib

Position : Lower Left And Right
Weight : 0,311 kg /0.686 Ib

Position : Lower Left And Right
Weight : 0,331 kg /0.730 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0,085 kg /0.187 Ib

Chassis (Front / Rear) : Front
Weight : 0,066 kg /0.146 Ib

Chassis (Front / Rear) : Front
Weight : 0,132 kg /0.291 Ib
Note : Kit

Chassis (Front / Rear) : Front
Weight : 1,020 kg /2.249 Ib

Position : Left
Weight : 1,625 kg / 3.583 Ib

Chassis (Front / Rear) : Rear
Weight : 0,865 kg / 1.907 Ib

552102F000, 552102F500

5562202F000

55220-2D000, 55227-2D000

545842F000, 54584-2F000

54551-2D000

552102F000*, 552102F000-P
552202F000*, 552202F000-P

54813-2F000

54813-2F000

21910-2F000

21830-2F000, 21830-2F200
21830-2F300

21930-0S000, 21930-0S100

21930-2F000, 21930-2F100

21930-2F400, 21930-2F500
21931-2F010

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

80

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPECTRA

LD

KIA

2004 - 2009

SPORTAGE

KlI12020
ENGINE MOUNTING REAR

Chassis (Front / Rear) : Rear
Weight : 1,055 kg /2.326 Ib

JE

21910-2F010, 21910-2F100
21910-2F110

2004 - 2010

e

A
—
—

‘==—
" ‘!l
—
.__--—-—‘

KI1007
BALL JOINT FRONT UPPER

KI11008
BALL JOINT FRONT LOWER

HY2008
TIE ROD END RH

HY2009
TIE ROD END LH

HY3007
AXIAL JOINT

HY4008
LINK STABILIZER REAR

HY4009
LINK STABILIZER FRONT

HY9005
CONTROL ARM REAR LOWER

K16005

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

Weight : 0,55 kg /1.213 Ib

Cone Size [mm] : @14,7
Connection Hole Diameter : @12,5
Ball Pin Thread Size : M12X1,25

Weight : 0,64 kg /1.411 Ib

Weight : 0,612 kg /1.349 Ib
Length : 170 mm /6.69 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : 13,3

Weight : 0,602 kg /1.327 Ib
Length : 170 mm /6.69 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : 13,3

Weight : 0,586 kg / 1.292 Ib
Length : 235,5 mm /9.27 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,334 kg /0.736 Ib
Material Type : Celik

Length : 219 mm /8.62 inch
Ball Pin Thread Size : M12X1,25

Weight : 0,343 kg /0.756 Ib
Material Type : Celik

Length : 238 mm /9.37 inch
Ball Pin Thread Size : M12X1,25

Weight : 1,196 kg /2.637 Ib
Material Type : Steel Tube

Weight : 3,515 kg /7.749 Ib
Material Type : Sheet Metal

517602, 51760-2E000
51760-2E010, 51770-2E010

568202E900, 56820-2E900

568202, 56820-2E000

, 577242
57724-2E000

5, 55302E+105
555301F000, 55530-1F000
5565302, 55530-2E000

54830-1F000, 548302
54830-2E000

55220-2E000, 55220-2E010
556220-2E110

54501-1F000*, 545011F000
545012, 5450120000000000
54501-2E000*, 54501-2E001*
54501-2E010*, 54501-2E030*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

81

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPORTAGE

JE

KIA

2004 - 2010

K16005J

K16006

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

K16006J

KI9005

HY11010

LOWER RH

HY11011

LOWER LH

HY11029

HY11030

HY11033K

BIG (KIT)

HY11045

HY11050
BUSH

'Y B X

WISHBONE (WITHOUT BALL JOINT)
FRONT LOWER RH

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

CONTROL ARM REAR LOWER

BUSH FOR CONTROL ARM REAR

BUSH FOR CONTROL ARM REAR

BUSH FOR WISHBONE SMALL

BUSH FOR WISHBONE REAR BIG

BUSH FOR WISHBONE SMALL AND

BUSH FOR CONTROL ARM REAR

Weight : 2,877 kg /6.343 Ib
Material Type : Sheet Metal

Weight : 3,515 kg /7.749 Ib
Material Type : Sheet Metal

Weight : 2,877 kg /6.343 Ib
Material Type : Sheet Metal

Weight : 0,960 kg /2.116 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Lower Right

Other Side : HY11011
Weight : 0,684 kg / 1.508 Ib

Chassis (Front / Rear) : Rear
Position : Lower Left

Other Side : HY11010
Weight : 0,689 kg /1.519 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,206 kg /0.454 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,423 kg /0.933 Ib
Note : .

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.629 kg /1.387 Ib
Note : KIT

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0,085 kg /0.187 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.33 kg /0.728 Ib

545011F000, 54501-1F000
545012, 54501-2E000
54501-2E001, 54501-2E010
54501-2E030

54500-1F000*, 5450020000000000
54500-2E000*, 54500-2E001*
54500-2E010*, 54500-2E030*

545001F000, 54500-1F000
545002, 54500-2E000
54500-2E001, 54500-2E010
54500-2E030

552202E500, 552202E600

55275-2S000, 55275-2S001

55274-2S000, 55274-2S001

54551-2E000, 54551-3R000
545841G000, 545841J000
54584-2E000

545512, 54551-2E000
545841G000, 54584-1G000
545843X000

552102F000*, 552102F000-P
552202F000*, 552202F000-P

55116-2E000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

82

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPORTAGE

JE

KIA

2004 - 2010

Rewe s> 2 g ¢

HY11051
BUSH

KI11017

BUSH FOR CONTROL ARM REAR
LOWER

HY12066
MOUNTING, REAR AXLE BUSH

HY12064
STABILISER MOUNTING FRONT

HY12064K
STABILISER MOUNTING FRONT
KIT

HY12049
ENGINE MOUNTING RH

HY12050
ENGINE MOUNTING RH

HY12051
ENGINE MOUNTING FRONT

HY12052
ENGINE MOUNTING FRONT

HY12053
ENGINE MOUNTING REAR

HY12131
ENGINE MOUNTING UPPER LH

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.16 kg /0.353 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,143 kg /0.315 b

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

Chassis (Front / Rear) : Front
Weight : 0,075 kg /0.165 Ib

Chassis (Front / Rear) : Front
Weight : 0,150 kg /0.331 Ib
Note : Kit

Chassis (Front / Rear) : Front
Position : Right
Weight : 1,465 kg /3.230 Ib

Chassis (Front / Rear) : Front
Position : Right

Chassis (Front / Rear) : Front
Weight : 1,115 kg /2.458 Ib

Chassis (Front / Rear) : Front
Weight : 1,365 kg / 3.009 Ib

Chassis (Front / Rear) : Rear
Weight : 1,065 kg /2.348 Ib

Position : Upper Left
Weight : 1,750 kg / 3.858 Ib

556215-2E500

552102E500, 552272E500

55220-2D000, 55227-2D000

54813-2E100

54813-2E100

21810-2E000

21810-2E200

21910-2E100, 21910-2E501

21910-2E002

21930-1F300, 21930-2E300

21830-2E000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

83

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPORTAGE

JE

KIA

2004 - 2010

k_/

SPORTAGE

HY12132
ENGINE MOUNTING LH

HY12133
ENGINE MOUNTING FRONT RH

HY12071
RUBBER BUFFER REAR

Position : Left
Weight : 1,700 kg /3.748 Ib

Chassis (Front / Rear) : Front
Position : Right
Weight : 0,565 kg / 1.246 Ib

Chassis (Front / Rear) : Rear
Weight : 0,030 kg /0.066 Ib

NB7

21830-2E200

21810-2E000, 21812-2E000
21830-D3400

54626-2E000, 55325-2E000

1993 - 2004

L 3

o

KI1019
BALL JOINT FRONT LOWER

Kl2031
TIE ROD END RH

Kl2032
TIE ROD END LH

Kl2033
TIE ROD END RH

Kl2034
TIE ROD END LH

Kl4036
LINK STABILIZER FRONT

K16054

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER

Weight : 0,900 kg /1.984 Ib

Weight : 0,635 kg /1.400 Ib
Length : 150 mm /5.91 inch

Weight : 0,635 kg / 1.400 Ib
Length : 150 mm /5.91 inch

Weight : 0,760 kg / 1.676 Ib
Length : 150 mm /5.91 inch

Weight : 0,760 kg / 1.676 Ib
Length : 150 mm /5.91 inch

Weight : 0,46 kg / 1.014 Ib

Material Type : Celik

Length : 48 mm /1.89 inch

Ball Pin Thread Size : M16X1,5/ M10X1,25

Weight : 2,530 kg /5.578 Ib
Material Type : Forged Steel

K011345101, KO11345101B
K01134510B

0K01132290A*

0K01132270A*

0K01132280*

0K01132270A*

0K01134160A, 0K011-34-160A
K01134160A

0K01134200, 0K01134200A
K01134200, KO1134200A
OK01134200A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

84

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

SPORTAGE NB7 1993 - 2004
| KI7001 }(Dlha.?sis (I;'_rofrt\tpf Ze:.r)';tFront
& b osition : Left And Rig
CENTER LINK FRONT Weight : 2,424 kg /5.344 Ib 0K01132260A, K01132260A

Length : 765,5 mm /30.14 inch

o KI11012 Cha.s.sis (Front / Rear) : Front 0KO01134200*, 0K01134200A*
BUSH FOR CONTROL ARM FRONT | Position : Upper K01134200%, KO1134200A*
- UPPER Weight : 0,150 kg /0.331 Ib OK01134200A*

SPORTAGE QL 2015 - 2020

L]

HY1027
BALL JOINT FRONT LOWER RH Weight : 0,720 kg /1.587 Ib PART OF 54501D7000, PART OF
54501F1000
-
HY1028
BALL JOINT ERONT LOWER LH Weight : 0,720 kg /1.587 Ib PART OF 54500D7000, PART OF
54500F 1000
p. HY1031
BALL JOINT ERONT LOWER RH Weight : 0,704 kg / 1.552 Ib 54530C1100, 54530D7100
HY1032
BALL JOINT FRONT LOWER LH Weight : 0,704 kg /1.552 Ib 54530C1000, 54530D7000
HY3020
.ﬂ" AXIAL JOINT Weight : 0,680 kg /1.499 Ib 57724-D3100
HY3045 Weight : 0,658 kg / 1.451 Ib
eight : 0, g /1.
- 7724D
AXIAL JOINT Length : 237 mm /9.33 inch 2 3000
2 Hv4077 Weight : 0,392 kg / 0.864 Ib
eight : 0, g /0.
Hﬁ LINK STABILIZER REAR Material Type : Celik 55530-D3000
w
HY6089

Weight : 4.26 kg /9.392 Ib

CONTROL ARM (WITH BALL JOlNT) Material Type : Sheet Metal
FRONT LOWER RH

54501-D7000, 54501-F1000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

85 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPORTAGE

QL

KIA

2015 - 2020

sy,
N
P
r-

HY6089J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

HY6090

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY6090J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

HY9028
CONTROL ARM REAR RH

HY9029
CONTROL ARM REAR LH

K16059

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16059J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

HY11062
BUSH FOR CONTROL ARM LOWER

HY12066
MOUNTING, REAR AXLE BUSH

HY12048
STABILISER MOUNTING

HY12048K
STABILISER MOUNTING KIT

Weight : 0,340 kg /0.750 Ib
Material Type : Sheet Metal

Weight : 4.26 kg /9.392 Ib
Material Type : Sheet Metal

Weight : 0,340 kg /0.750 Ib
Material Type : Sheet Metal

Weight : 1,916 kg /4.224 Ib
Material Type : Sheet Metal

Weight : 1,916 kg /4.224 Ib
Material Type : Sheet Metal

Weight : 4,315 kg /9.513 Ib
Material Type : Sheet Metal

Weight : 4,315 kg /9.513 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Lower Left And Right
Weight : 0.22 kg /0.485 Ib

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.096 kg /0.212 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.192 kg /0.423 Ib
Note : 2 PIECES IN 1 BOX

54501-D7000, 54501-F1000

54500-D7000, 54500-F1000

54500-D7000, 54500-F1000

55280-D3200

556270-H3000

54501-F1000

54501-F1000

54551-3R000, 54551-C5000

55220-2D000, 55227-2D000

54813-C1100

54813-C1100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

86

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPORTAGE

QL

KIA

2015 - 2020

o
e
AR

SPORTAGE

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

HY13007
STEERING BELLOW

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

SL

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

56528-D7000

2010 - 2015

\*\

= ¥

VN

—

,@
i
—y

HY1019
BALL JOINT FRONT LOWER

HY2038
TIE ROD END RH

HY2039
TIE ROD END LH

HY3034
AXIAL JOINT

HY4057
LINK STABILIZER FRONT

HY4059
LINK STABILIZER REAR

K14021
LINK STABILIZER FRONT

Weight : 0,845 kg /1.863 Ib
Connection Hole Diameter : 13,5

Weight : 0,831 kg /1.832 Ib
Length : 233 mm /9.17 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,4

Weight : 0,831 kg /1.832 b
Length : 233 mm /9.17 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,25
Ball Pin Cone Diameter : @13,4

Weight : 0,583 kg /1.285 Ib
Length : 183 mm /7.20 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,402 kg /0.886 Ib
Material Type : Celik

Length : 267 mm /10.51 inch
Ball Pin Thread Size : M12X1,5

Weight : 0,331 kg /0.730 Ib
Material Type : Celik

Length : 88 mm /3.46 inch

Ball Pin Thread Size : M12X1,25

Weight : 0,415 kg /0.9151b
Material Type : Celik

Length : 267 mm /10.51 inch
Ball Pin Thread Size : M12X1,25

545303S000, 54530-3S000

56820-2S000, 5682025050
56820-2S050, 568202T500
56820-2T500, 56820-3Q500

5682025000, 56820-2S000
56820-2S050, 568202T000
56820-2T000, 56820-3Q000

5772425000, 57724-2S000
5772425100

5483025200, 54830-25200

55530-3R000, 55540-3R000

54380-3U000, 54830-3U000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

87

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPORTAGE

SL

KIA

2010 - 2015

7
7

~
X

r—
L N
)

Kl4037
LINK STABILIZER FRONT

HY6067

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

HY6067J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

HY6068

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY6068J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

HY9001

TRACK CONTROL ARM REAR
UPPER

HY9010
CONTORL ARM REAR LOWER

HY9019
CONTROL ARM REAR UPPER

KI9004
CONTROL ARM REAR UPPER

HY11040
BUSH FOR WISHBONE BIG

HY11042
BUSH FOR WISHBONE CENTER

Weight : 0,420 kg / 0.926 Ib
Material Type : Celik

Length : 282 mm /11.10 inch
Ball Pin Thread Size : M12X1,25

Weight : 4,953 kg /10.919 Ib
Material Type : Sheet Metal

Weight : 4,953 kg /10.919 Ib
Material Type : Sheet Metal

Weight : 4,953 kg /10.919 Ib
Material Type : Sheet Metal

Weight : 4,953 kg /10.919 Ib
Material Type : Sheet Metal

Weight : 1,5 kg /3.307 Ib
Material Type : Sheet Metal

Weight : 0,650 kg /1.433 Ib
Material Type : Forged Steel

Weight : 0,877 kg /1.933 Ib
Material Type : Steel Tube

Weight : 1,242 kg /2.738 Ib
Material Type : Sheet Metal

Position : Left And Right
Weight : 0,42 kg /0.926 Ib

Position : Center Left And Right
Weight : 0,224 kg /0.494 Ib

54830-28500, 54830-A6000
54830-D3000, 54830-D9000

54501-2S000, 54501-2Y000
54501-2Y001, 54501-2Y002

54501-2S000, 54501-2Y000
54501-2Y001, 54501-2Y002

54500-2S000, 54500-2Y000
54500-2Y001, 54500-2Y002

54500-2S000, 54500-2Y000
54500-2Y001, 54500-2Y002

5510025000, 55100-2S000

55250-1D000, 55250-2S000

5525025100, 5525025110

5510025050, 551003Q000
551003R000, 551003R050
5510042100

54584-A6000

5455128000, 54551-2S000
545512Y000, 54551-2Y000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

88

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER KIA

SPORTAGE SL

2010 - 2015

a

g

—_y

-
“

o
@
N
J

F

HY11075

BUSH FOR CONTROL ARM REAR
UPPER

MZ11045

BUSH FOR CONTROL ARM REAR
LOWER

HY12043
MOUNTING, REAR AXLE BUSH

HY12066
MOUNTING, REAR AXLE BUSH

HY12063
STABILISER MOUNTING FRONT

HY12063K

STABILISER MOUNTING FRONT
KIT

HY12065
ENGINE MOUNTING RH

Kl12021
ENGINE MOUNTING LH

Kl12022

ENGINE MOUNTING REAR LOWER

HY13003
STEERING BELLOW

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,164 kg /0.362 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,100 kg / 0.220 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.326 kg /0.719 Ib

Chassis (Front / Rear) : Rear
Weight : 0,086 kg /0.190 Ib

Chassis (Front / Rear) : Front
Weight : 0,046 kg /0.101 Ib

Chassis (Front / Rear) : Front
Weight : 0,095 kg /0.209 Ib
Note : Kit

Position : Right
Weight : 1,940 kg /4.277 Ib

Position : Left
Weight : 1,930 kg /4.255 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 1,385 kg /3.053 Ib

5525025100, 5525025110

55250-2S000*, EG2128500B*

52760-2G000, 55130-4D000

55220-2D000, 55227-2D000

54813-2S000

54813-2S000

21810-2S000, 21810-2S050
21810-2S200

21830-2S000

21950-2S000, 21950-2Y700

57728-2S000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

89

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

SPORTAGE

\'

KIA

2022 -

HY1035
BALL JOINT FRONT LOWER

HY2066
TIE ROD END RH

HY2067
TIE ROD END LH

HY4096
LINK STABILIZER FRONT

HY6115

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

HY6115J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

HY6116

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY6116J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

Weight : 0,695 kg /1.532 Ib

Weight : 0,815 kg /1.797 Ib
Length : 214 mm /8.43 inch

Weight : 0,815 kg /1.797 Ib
Length : 214 mm /8.43 inch

Weight : 0,530 kg / 1.168 Ib
Material Type : Celik

Length : 350 mm /13.78 inch
Ball Pin Thread Size : M12X1,25

Weight : 4,802 kg /10.587 Ib
Material Type : Sheet Metal

Weight : 4,044 kg /8.915 Ib
Material Type : Sheet Metal

Weight : 4,802 kg /10.587 Ib
Material Type : Sheet Metal

Weight : 4,044 kg /8.915 Ib
Material Type : Sheet Metal

54500N9000*, 54501N9000*

56825-N9100

56820-N9100

54830-N9000

54501-N9000

54501-N9000*

54500-N9000

54500-N9000*

STONIC 2018 -

»

s

S

i

HY1029
BALL JOINT FRONT LOWER

Kl2025
TIE ROD END RH

Weight : 0,316 kg / 0.697 Ib

Weight : 0,120 kg / 0.265 Ib
Length : 454 mm /17.87 inch

PART OF 54500H8000, PART OF

54501H8000

56825-H8000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

90

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

STONIC

KIA

2018 -

=
—*
7
A
b

@

Kl2026
TIE ROD END LH

Ki3024
AXIAL JOINT

HY4066
LINK STABILIZER FRONT

K16061

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

K16062

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

HY11026
BUSH FOR WISHBONE SMALL

HY11034
BUSH FOR WISHBONE REAR BIG

HY12057
STABILISER MOUNTING FRONT

HY12057K

STABILISER MOUNTING FRONT
KIT

HY13002
STEERING BELLOW

Weight : 0,120 kg /0.265 Ib
Length : 454 mm /17.87 inch

Weight : 0,503 kg /1.109 Ib

Weight : 0,393 kg / 0.866 Ib
Material Type : Celik
Length : 282 mm /11.10 inch

Ball Pin Thread Size : M12X1,25

Weight : 3,165 kg /6.978 Ib
Material Type : Sheet Metal

Weight : 3,165 kg /6.978 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,098 kg /0.216 Ib
Note : .

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0,439 kg /0.968 Ib

Chassis (Front / Rear) : Front
Weight : 0,105 kg /0.231 Ib

Chassis (Front / Rear) : Front
Weight : 0,210 kg / 0.463 Ib
Note : Kit

56820-H8000

56540-H8000

54830C8000, 54830-C8000

54501-H5000

54500-H5000

545511, 54551-1E000
545511J000

545840Q000, 54584-0Q000
545842H000, 54584-2H000

54813-2T000, 54813-3S110

54813-2T000, 54813-3S110

56528-H8000, 57740-B4000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

91

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

VENGA

YN, AM

KIA

2010 -

e

—*
7
X

N
B
ol )

HY1002
BALL JOINT FRONT LOWER

HY2031
TIE ROD END RH

HY2032
TIE ROD END LH

HY3033
AXIAL JOINT

HY4025
LINK STABILIZER FRONT RH

HY4026
LINK STABILIZER FRONT LH

K16024

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

K16025

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

HY12070
RUBBER BUFFER REAR

HY13006
STEERING BELLOW

Weight : 0,33 kg /0.728 Ib
Cone Size [nm] : @15

Ball Pin Thread Size : M12X1,5
Ball Joint Body Diameter : @40,4

Weight : 0,52 kg /1.146 Ib
Length : 189 mm /7.44 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,52 kg /1.146 Ib
Length : 189 mm / 7.44 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,54 kg /1.190 Ib
Length : 249 mm /9.80 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,291 kg /0.642 Ib
Material Type : Celik

Length : 216 mm /8.50 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,291 kg /0.642 Ib
Material Type : Celik

Length : 216 mm /8.50 inch
Ball Pin Thread Size : M10X1,5

Weight : 3,34 kg /7.363 Ib
Material Type : Sheet Metal

Weight : 3,34 kg /7.363 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Weight : 0,050 kg /0.110 Ib

54500-17000, 54500-1C000
54500-1C010, 54500-1J500
54501-17000, 54501-1C000
54501-1C010, 54501-1J500
54501-22000, 54501-22100

568202K050, 56820-2K050

568202K000, 56820-2K000

56540-2K000, 56540-3J000

54840-1J000

54830-1J000

545011P100, 54501-1P100

545001P100, 54500-1P100

55326-27000

57740-2K010

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

92

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

XCEED

P G b
HY4095 Weight : 0,425 kg /0.937 Ib

‘ | Material Type : Celik
5 ® | LINK STABILIZER FRONT 54830-49000

Length : 295 mm /11.61 inch
Ball Pin Thread Size : M12X1,25

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

93 info@riw.com.tr



RIW

NOTES




le STEERING & SUSPENSION
MANUFACTURER

NOTES

Product Code Additional Information

F114012
AXLE BELLOW SET OUT

SET = BELOW, CLAMPING CLIP and MOLYBDENUM GREASE

ENGINE MOUNTING

HY1027 EURO TYPE

BALL JOINT FRONT LOWER RH

HY1028 EURO TYPE

BALL JOINT FRONT LOWER LH

HY1031 FOR USA MARKET
BALL JOINT FRONT LOWER RH

HY1032 FOR USA MARKET
BALL JOINT FRONT LOWER LH

HY11026 SMALL

BUSH FOR WISHBONE SMALL

HY11029 SMALL

BUSH FOR WISHBONE SMALL

HY12021 14-16

HY12023
STABILISER MOUNTING

DIESEL / WIDE CANAL

HY12023K
STABILISER MOUNTING KIT

DIESEL / WIDE CANAL

HY12024
STABILISER MOUNTING

GASOLINE / NARROW CANAL

HY12024K
STABILISER MOUNTING KIT

GASOLINE / NARROW CANAL

HY12042
ENGINE MOUNTING

HYUNDAI VELOSTER : ONLY 2012-2014

HY12050
ENGINE MOUNTING RH

DIESEL

HY12051
ENGINE MOUNTING FRONT

2.7 GASOLINE

HY12052
ENGINE MOUNTING FRONT

2.0 GASOLINE / YEARS ONLY : 2005-2009

HY12053
ENGINE MOUNTING REAR

2.0 GASOLINE / YEARS ONLY : 2005-2009




le STEERING & SUSPENSION
MANUFACTURER

Additional Information

NOTES

Product Code

HY12057
STABILISER MOUNTING FRONT

@23mm ; @21mm

HY12057K
STABILISER MOUNTING FRONT KIT

2 PIECES in 1 BOX / @23mm ; @21mm

HY12063
STABILISER MOUNTING FRONT

INNER DIAMETER : @25mm

HY12063K
STABILISER MOUNTING FRONT KIT

2 PIECES IN 1 BOX / INNER DIAMETER : @25mm

HY12064
STABILISER MOUNTING FRONT

INNER DIAMETER : @24.2mm

HY12064K
STABILISER MOUNTING FRONT KIT

2 PIECES IN 1 BOX/INNER DIAMETER : @24.2mm

ENGINE MOUNTING FRONT RH

HY12099 o4

ENGINE MOUNTING FRONT

HY12110 16

ENGINE MOUNTING FRONT

HY12125 20/2.7
ENGINE MOUNTING FRONT

HY12133 HYDRAULIC

HY2023
TIE ROD END RH

HYUNDAI ELANTRA YEARS ONLY :2017-2018 / FOR 1.6L

HY2024
TIE ROD END LH

HYUNDAI ELANTRA YEARS ONLY :2017-2018 / FOR 1.6L

LINK STABILIZER FRONT RH

HY3020 AWD

AXIAL JOINT

HY3045 2WD / ELECTRIC POWER STEERING
AXIAL JOINT

HY4073

KIA OPTIMA - ONLY: 2012-2015

HY4073
LINK STABILIZER FRONT RH

KIA OPTIMA - ONLY: 2012-2015

HY4074
LINK STABILIZER FRONT LH

KIA OPTIMA - ONLY: 2012-2015




le STEERING & SUSPENSION
MANUFACTURER

NOTES

Product Code Additional Information

HY4074
LINK STABILIZER FRONT LH

HY6017

WISHBONE (WITHOUT BALL JOINT)
FRONT LOWER RH

HY6018

WISHBONE (WITHOUT BALL JOINT)
FRONT LOWER LH

HY6027

WISHBONE (WITHOUT BALL JOINT)
FRONT LOWER RH

HY6028

WISHBONE (WITHOUT BALL JOINT)
FRONT LOWER LH

HY6089

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

HY6089

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

HY6089J

CONTROL ARM (WITHOUT BALL JOINT)
FRONT LOWER RH

HY6090

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

HY6090

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

HY6090J

CONTROL ARM (WITHOUT BALL JOINT)
FRONT LOWER LH

HY6103

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

HY6103

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

HY6104

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

HY6104

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

HY6105

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

HY6106

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

KIA OPTIMA - ONLY: 2012-2015

E.P.S. POWER STEERING

E.P.S. POWER STEERING

2.016V-2.5V6

2.016V-2.5V6

EURO TYPE

EURO TYPE

EURO TYPE

EURO TYPE

EURO TYPE

EURO TYPE

ALUMINUM

ALUMINUM

ALUMINUM

ALUMINUM

HYUNDAI SONATA YEARS ONLY: 2013-2014 / KIA OPTIMA YEARS ONLY: 2013-2014

HYUNDAI SONATA YEARS ONLY: 2013-2014 / KIA OPTIMA YEARS ONLY: 2013-2014



le STEERING & SUSPENSION
MANUFACTURER

Additional Information

NOTES

Product Code

HY9028

BUSH FOR TRACK CONTROL ARM
CENTER

FWD
CONTROL ARM REAR RH

HY9029 FWD

CONTROL ARM REAR LH

KI11002 4WD

BALL JOINT FRONT LOWER

KI1017K WITH ACCESSORIES
BALL JOINT FRONT LOWER

KI11007 CENTER

KI12002
STABILISER MOUNTING FRONT

INNER DIAMETER : @21mm

KI12002K
STABILISER MOUNTING FRONT KIT

2 PIECES IN 1 BOX/INNER DIAMETER : @21mm

KI12005
STABILISER MOUNTING FRONT

INNER DIAMETER : @22mm

KI12005
STABILISER MOUNTING FRONT

INNER DIAMETER : @22mm

KI12005K
STABILISER MOUNTING FRONT KIT

2 PIECES IN 1 BOX /INNER DIAMETER : @22mm

KI12006
STABILISER MOUNTING FRONT

INNER DIAMETER : @27.8mm

KI12006K
STABILISER MOUNTING FRONT KIT

2 PIECES IN 1 BOX/INNER DIAMETER : @27.8mm

KI12011
STABILISER MOUNTING

INTERNAL DIAMETER = @18.3mm

KI12011K
STABILISER MOUNTING KIT

2 PIECES IN 1 BOX/INTERNAL DIAMETER = @18.3mm

KI12012
STABILISER MOUNTING

INTERNAL DIAMETER = @23.2mm

KI12012K
STABILISER MOUNTING KIT

2 PIECES IN 1 BOX/INTERNAL DIAMETER = @23.2mm

KI12017
ENGINE MOUNTING FRONT




le STEERING & SUSPENSION
MANUFACTURER

Additional Information

NOTES

Product Code

Ki12018

LINK STABILIZER FRONT RH

2.0
ENGINE MOUNTING LH
Ki3010 POWER STEERING
AXIAL JOINT
KI3026 KIA PICANTO YEAR ONLY: 2015-2017
AXIAL JOINT
KI3026 KIA PICANTO YEAR ONLY: 2015-2017
AXIAL JOINT
KI3028 ONLY FOR VECHISLES WITHOUT POWER STEERING
AXIAL JOINT
KI3035 MANUAL STEERING
AXIAL JOINT
Ki3036 FOR 1.6L and 2.4L
AXIAL JOINT
Ki14001

KIA SORENTO: 03/2004 -->

K14002
LINK STABILIZER FRONT LH

KIA SORENTO: 03/2004 -->

K14005
LINK STABILIZER FRONT

KIA SORENTO: --> 02/2004

Ki4010
LINK STABILIZER FRONT RH

KIA RIO: --> 07-2002

K14011
LINK STABILIZER FRONT LH

KIA RIO: --> 07-2002

K14019
LINK STABILIZER FRONT RH

KIA RIO: 08/2002-->

K14020
LINK STABILIZER FRONT LH

KIA RIO: 08/2002-->

Kl4021

LINK STABILIZER FRONT LH

4X4
LINK STABILIZER FRONT
Ki4029 2.0 HYBRID
LINK STABILIZER FRONT RH
Ki4030 2.0 HYBRID




le STEERING & SUSPENSION
MANUFACTURER

Additional Information

NOTES

Product Code

K14037
LINK STABILIZER FRONT

ONLY: 2014-2015 / FOR RUSSIAN MARKET

K14039
LINK STABILIZER REAR

AWD / KIA SORENTO YEARS ONLY: 2002-2004

WISHBONE (WITH BALL JOINT) FRONT
LOWER LH

K16001 4WD
WISHBONE (WITH BALL JOINT) FRONT

LOWER RH

K16002 4WD

K16022

WISHBONE (WITH BALL JOINT) FRONT
LOWER RH

AUTOMATIC TRANSMISSION

Ki16023

WISHBONE (WITH BALL JOINT) FRONT
LOWER LH

AUTOMATIC TRANSMISSION

K16038

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

USA MARKET TYPE
CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH
KI6039 USA MARKET TYPE

K16040

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

KOREAN BUILT

K16040

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

KOREAN BUILT

K16041

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

KOREAN BUILT

Ki6041

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

KOREAN BUILT

K16044

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER RH

YEARS ONLY : 2002-2006

K16045

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER LH

YEARS ONLY : 2002-2006

K16046

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER RH

YEARS ONLY : 2006-2009

K16047

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER RH

YEARS ONLY : 2006-2009

K16057

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

YEARS ONLY: 2008-2011




le STEERING & SUSPENSION
MANUFACTURER

Additional Information

NOTES

Product Code

K16058

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

YEARS ONLY: 2008-2011

K16059

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

FOR VEHICLES WITH XENON LIGHTS

K16059J

CONTROL ARM (WITHOUT BALL JOINT)
FRONT LOWER RH

FOR VEHICLES WITH XENON LIGHTS

K16061

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

RUSSIAN MARKET

K16062

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

RUSSIAN MARKET

Ki9001

TRACK CONTROL ARM REAR LOWER
REARWARD

FORWARD
TRACK CONTROL ARM REAR LOWER
FORWARD
Ki9002 REARWARD

K19005
CONTROL ARM REAR LOWER

ONLY FOR 4Xx4

KI19007
CONTROL ARM REAR UPPER

4WD

MZ12011
ENGINE MOUNTING FRONT

MAZDA PROTEGE YEARS ONLY : 1990-1994




